APPENDIX A.   EMPLOYMENT MODEL 
BRONX EQUATIONS
EQUATION EMCONYBRX

EMCONYBRX= <0.324356>*emconybrx\1 + <1.51007>*EC + <0.212208>*  

EMCONYMA - <1.28882>*DUM81 - <0.0657903>*cpiunynj/cpi

EQUATION RWCONYBRX

rwconybrx=  exp(<-0.102769> + <0.802482>* log(rwconybrx\1)  

 + <0.295934>* log(ahecns) + <0.0894685>* log(emconybrx/ec)  

 - <0.0639341>*DUM91)

EQUATION RWMNNYBRX

rwmnnybrx=  exp(<-3.56987> + <0.613354>* log(rwmnnybrx\1)  

 + <0.525351>* log(ahemns) + <0.681266>* log(cpiunynj/cpi)  

 + <0.13946>* log(emmnnybrx\2) + <0.0642669>*DUM91)

EQUATION EMMNNYBRX

EMMNNYBRX= <9.01361> - <0.561307>*RWMNNYBRX + <0.0132577>*POPNYBRX  

 + <0.385994>*emmnnybrx\1 - <2.74836>*DUM75

EQUATION RWTUNYBRX

RWTUNYBRX= <-0.952554> + <2.60171>*AHERNS

EQUATION RWWTNYBRX

rwwtnybrx=  exp(<0.742128>* log(rwwtnybrx\1) + <0.244855>*  

 log(ahetwns) + <0.0736692>* log(cpiunynj/cpi))

EQUATION RWFINYBRX

RWFINYBRX= <0.650037> + <1.6114>*AHEFIRNS

EQUATION EMFINYBRX

EMFINYBRX= <-3.81261> + <0.00814693>*POPNYBRX + <0.480381>*  

emfinybrx\1 - <0.867942>*DUM83

EQUATION RWGONYBRX

RWGONYBRX= <0.176429> + <0.130416>*RWGONYMA + <0.901138>*  

rwgonybrx\1

EQUATION YOTHNYBRX

YOTHNYBRX= <0.560248> + <0.36561>*yothnybrx\1 + <0.00411581>*YOTH  

 + <0.134617>*popnybrx/n

EQUATION RWSENYBRX

RWSENYBRX= <-1.88987> + <0.752747>*RWGONYBRX + <0.0818413>*CPIUNYNJ  

 - <0.382701>*TREND

EQUATION YWWSDNYBRX

YWWSDNYBRX= <-0.108722> + <0.250486>*ywwsdnybrx\1 + <0.780111>*  

wagesnybrx/1000

EQUATION YRPICNYBRX

YRPICNYBRX=YWWSDNYBRX+YWPPTNYBRX+YOTHNYBRX

EQUATION WAGESNYBRX

WAGESNYBRX=EMMNNYBRX*RWMNNYBRX+EMCONYBRX*RWCONYBRX+EMTUNYBRX*

RWTUNYBRX+EMWTNYBRX*RWWTNYBRX+EMRTNYBRX*RWRTNYBRX+EMFINYBRX*

RWFINYBRX+ EMSENYBRX*RWSENYBRX+EMGONYBRX*RWGONYBRX

EQUATION EMTNNYBRX

EMTNNYBRX=EMMINYBRX+EMMNNYBRX+EMCONYBRX+EMTUNYBRX+EMWTNYBRX+

EMRTNYBRX+ EMFINYBRX+EMSENYBRX+EMGONYBRX

EQUATION EMWTNYBRX

EMWTNYBRX= <8.18662> + <0.315539>*emwtnybrx\1 - <2.30223>*  

rwwtnybrx/ahetwns + <0.255887>*EMRTNYBRX + <0.127449>*EMMNNYBRX

EQUATION EMRTNYBRX

EMRTNYBRX= <-22.411> + <0.925639>*emrtnybrx\1 - <8.77682>*RUNYBRX  

 - <1.58532>*DUM91 + <25.2505>*popnybrx/popnybrx\1

EQUATION RWRTNYBRX

RWRTNYBRX= <-4.89699> + <0.691651>*rwrtnybrx\1 + <0.888872>*AHETRNS  

 + <0.381551>*emrtnybrx/etr + <0.0336685>*cpiunynj/cpi

EQUATION EMSENYBRX

EMSENYBRX= <38.9295> + <0.123458>*emsenybrx\1 - <64.6347>*RUNYBRX  

 + <3028.97>*yrpicnybrx\1/popnybrx\1 + <2.80218>*DUM75

EQUATION EMGONYBRX

EMGONYBRX= <3.6509> + <0.922444>*emgonybrx\1 + <190.284>*  

yrpicnybrx/popnybrx - <33.7309>*RUNYBRX

EQUATION YWPPTNYBRX

YWPPTNYBRX= <-0.190658> + <0.000964427>*YENTNFADJ + <0.0752412>*  

yentnfadj\1/yentnfadj\2 + <0.0665074>*DUM91 + <0.214242>*  

emtnnybrx/emtnnybrx\1

EQUATION RUNYBRX

RUNYBRX= <-0.135515> + <0.646788>*runybrx\1 - <0.387283>*  

emtnnybrx/emtnnybrx\1 + <0.559341>*popnybrx/popnybrx\1  

 - <0.0277479>*DUM87 - <0.0172275>*DUM88 + <0.0251595>*DUM92

EQUATION EBPRNYBRX

EBPRNYBRX= <0.159846>*YRPICNYBRX + <0.916887>*ebprnybrx\1  

 + <3.75311>*DUM88

KINGS EQUATIONS
EQUATION EMFINYKIn

EMFINYKIn= <-10.2456> + <0.815441>*emfinykin\1 + <0.140959>*  

cpiunynj/cpi + <2.68433>*DUM93

EQUATION RWFINYKIn

rwfinykin =  exp(<-1.26899> + <0.741467>* log(rwfinykin\1)  

 + <0.671981>* log(ahefirns) + <0.4767>* log(emfinykin/efir)  

 - <0.244532>*(dum88+dum89))

EQUATION RWMNNYKIn

RWMNNYKIn= <0.190055> + <0.923023>*rwmnnykin\1 + <0.233557>*AHEMNS

EQUATION RWSENYKIn

rwsenykin =  exp(<-2.43284> + <0.364435>* log(rwsenykin\1) + <0.60341>*  

 log(ahesvns) + <0.644143>* log(cpiunynj/cpi))

EQUATION RWTUNYKIn

rwtunykin =  exp(<0.502476>* log(aherns) + <0.463322>* log(rwtunykin\1)  

 + <0.122153>* log(cpiunynj/cpi) + <0.104363>*DUM82 + <0.0563912>*  

DUM86)

EQUATION RWWTNYKIn

rwwtnykin =  exp(<-2.29094> + <0.586153>* log(rwwtnykin\1)  

 + <0.450915>* log(ahetwns) + <0.570304>* log(cpiunynj/cpi))

equation ywpptnykin

ywpptnykin=1.034*ywpptnykin\1

EQUATION YOTHNYKIN

yothnykin =  exp(<-4.17496> + <0.576943>* log(yothnykin\1)  

 + <0.474308>* log(yoth) + <0.957398>* log(popnykin/n))

EQUATION EMTUNYKIn

EMTUNYKIn= <15.1092> + <0.892694>*emtunykin\1 - <5.43851>*  

rwtunyki/aherns + <5.99455>*(er-er\1)

EQUATION RWGONYKIn

RWGONYKIn= <-1.07516> + <0.559922>*rwgonykin\1 + <0.722126>*RWSENYKIn

EQUATION RUNYKIN

RUNYKIN= <0.0186241> + <0.654066>*runykin\1 + <0.00654744>*RUC  

 - <0.000450809>*(emtnnykin\1-emtnnykin\2) - <0.00465274>*ruc\1

EQUATION EMCONYKIn

EMCONYKIn= <32.8224> + <0.87351>*emconykin\1 - <0.249738>*  

cpiunynj/cpi - <50.5241>*RUNYKIN

EQUATION RWCONYKIn

RWCONYKIn= <-1.92042> + <0.818173>*rwconykin\1 + <0.367949>*  

emconykin/ec + <0.464795>*AHECNS

EQUATION EMGONYKIn

EMGONYKIn= <-42.8432> + <0.520261>*emgonykin\1 + <0.76741>*  

cpiunynj/cpi - <61.894>*RUNYKIN + <0.355464>*EGSL

EQUATION EMWTNYKIn

EMWTNYKIn= <21.5875> + <0.778983>*emwtnykin\1 - <0.0958524>*  

cpiunynj/cpi - <18.5658>*RUNYKIN - <0.283611>*AHETWNS

EQUATION EMMNNYKIn

EMMNNYKIn= <-60.9268> - <80.6261>*RUNYKIN + <1.60736>*cpiunynj/cpi  

 - <44.3259>*rwmnnykin/ahemns + <0.875185>*emmnnykin\1

EQUATION EMRTNYKIn

EMRTNYKIn= <11.3967> + <0.688386>*emrtnykin\1 - <34.5599>*RUNYKIN  

 + <473.581>*(rwrtnykin/cpiunynj)/(ahetrns/cpi) - <3.18259>*DUM91

EQUATION RWRTNYKIn

RWRTNYKIn= <-2.79243> + <0.831883>*rwrtnykin\1 + <0.687586>*AHETRNS  

 + <0.424174>*emrtnykin/etr

equation wages

wagesnykin=emconykin*rwconykin+emmnnykin*rwmnnykin+emtunykin*rwtunykin+emwtnykin*rwwtnykin+emrtnykin*rwrtnykin+emfinykin*rwfinykin+  

 emsenykin*rwsenykin+emgonykin*rwgonykin

equation yrpicnykin

yrpicnykin=ywwsdnykin+ywpptnykin+yothnykin

EQUATION YWWSDNYKin

YWWSDNYKin= <-0.127173> + <0.955883>*wagesnykin/1000

EQUATION EMSENYKIn

EMSENYKIn= <42.5888> + <0.409986>*emsenykin\1 + <0.227659>*  

(emsenykin\1-emsenykin\2) - <37.2483>*RUNYKIN + <2911.52>*  

yrpicnykin/popnykin

EQUATION EBPRNYKIn

EBPRNYKIn= <-47.8242> + <0.917323>*ebprnykin\1 + <996.97>*  

yrpicnykin/popnykin + <0.0902062>*emtnnykin\6 + <9.32544>*DUM88

equation emtnnykin

emtnnykin=emminykin+emmnnykin+emconykin+emtunykin+emwtnykin+emrtnykin+  emfinykin+emsenykin+emgonykin

MANHATTAN EQUATIONS
EQUATION RWMINYMAn

RWMINYMAn= <-22.0209> + <68.2927>*EMI

EQUATION RWWTNYMAn

rwwtnyman=  exp(<0.939091>* log(rwwtnyman\1) + <0.0612852>*  

 log(cpiunynj))

EQUATION RWRTNYMAn

RWRTNYMAn= <-0.266272> + <0.932327>*rwrtnyman\1 + <0.409725>*AHETRNS

EQUATION RWFINYMAn

RWFINYMAn= <-4.90272> + <0.595416>*rwfinyman\1 + <3.11766>*AHEFIRNS  

 - <6.73422>*DUM89 + <13.8518>*DUM92FINBONUS

EQUATION EMGONYMAn

EMGONYMAn= <0.269545>*emgonyman\1 + <312.723>*popnyman\1/popnyman\2  

 - <609.111>*runyman\1

EQUATION YOTHNYMAN

YOTHNYMAN= <-23.1544> + <0.940728>*yothnyman\1 + <4.95502>*DUM91  

 + <3.12964>*popnyman/n

EQUATION RWMNNYMAn

rwmnnyman=  exp(<-19.9905> + <1.469>* log(ahemns) + <4.3518>*  

 log(cpiunynj/cpi) + <0.732443>* log(cpiunynj\1/cpiunynj\2)  

 + <0.0770275>*(dum79+dum80))

EQUATION RWCONYMAn

RWCONYMAn= <-1.04733> + <0.995913>*rwconyman\1 + <0.319563>*AHECNS

EQUATION EMCONYMAn

EMCONYMAn= <0.376221>*emconyman\1 - <0.743848>*RMMTGENS - <3.74853>*  

rwconyman/ahecns - <0.620782>*cpiunynj/cpi + <0.04794>*emtnnyman\1  

 + <4.72504>*DUM73 - <4.29192>*DUM75 - <4.64007>*DUM91

EQUATION EMFINYMAn

EMFINYMAn= <177.976> + <0.792504>*emfinyman\1 - <2.0923>*cpiunynj/cpi  

 + <2200.35>*efir/eea - <22.0458>*(dum91+dum92)

EQUATION EMMNNYMAn

EMMNNYMAn= <-72.9343> + <0.888414>*emmnnyman\1 + <4.70595>*EM  

 + <16.2412>*(dum76+dum77)

EQUATION RWTUNYMAn

RWTUNYMAn= <-83.8638> + <5.10758>*AHERNS + <0.391193>*emtunyman/er  

 + <0.559805>*cpiunynj/cpi

EQUATION EMRTNYMAn

EMRTNYMAn= <86.0424> + <0.813025>*emrtnyman\1 - <0.498679>*  

cpiunynj/cpi + <6.06026>*yrpicnyman/yrpicnyman\1 - <15.4703>*DUM91  

 - <9.26291>*DUM92

EQUATION EMSENYMAn

EMSENYMAn= <263.608> + <12.2161>*ESV - <4.46982>*cpiunynj/cpi  

 + <0.431426>*EMFINYMAn + <1.86725>*EMRTNYMAn

EQUATION RWSENYMAn

RWSENYMAn= <0.756321> + <0.962727>*rwsenyman\1 + <0.454516>*AHESVNS  

 - <13.2193>*RUNYMAN

EQUATION RWGONYMAn

rwgonyman=  exp(<-0.500013> + <0.885468>* log(rwgonyman\1)  

 + <0.330645>* log(cpiunynj/cpiunynj\1) + <0.116969>* log(rwtunyman)  

 + <0.154344>* log(emgonyman/eg))

EQUATION YWPPTNYMan

ywpptnyman=  exp(<-5.81575> + <0.545987>* log(ywpptnyman\1)  

 + <0.252279>* log(runyman) + <0.8491>* log(yentnfadj) + <0.913265>*  

 log(emtnnyman/eea) - <0.183899>*DUM75 - <0.132605>*DUM76)

EQUATION YWWSDNYMan

YWWSDNYMan= <0.000709097>*WAGESNYMAN + <0.286113>*ywwsdnyman\1

EQUATION RUNYMAN

RUNYMAN= <0.197976> + <0.904254>*runyman\1 - <0.189865>*  

emtnnyman/emtnnyman\1 - <0.00969633>*(dum87+dum88) + <0.00672223>*  

(ruc-ruc\1)

EQUATION YRPICNYMan

YRPICNYMan=YWWSDNYMan+YWPPTNYMan+YOTHNYMAN

EQUATION EMTNNYMAn

EMTNNYMAn=EMMINYMAn+EMMNNYMAn+EMCONYMAn+EMTUNYMAn+EMWTNYMAn+

EMRTNYMAn+ EMFINYMAn+EMSENYMAn+EMGONYMAn

EQUATION WAGESNYMAN

WAGESNYMAN=RWMINYMAn*EMMINYMAn+RWMNNYMAn*EMMNNYMAn+RWCONYMAn*

EMCONYMAn+RWTUNYMAn*EMTUNYMAn+RWWTNYMAn*EMWTNYMAn+RWRTNYMAn

*EMRTNYMAn+RWFINYMAn*EMFINYMAn+RWSENYMAn*EMSENYMAn+RWGONYMAn

*EMGONYMAn

EQUATION EMWTNYMAn

EMWTNYMAn= <37.0987> + <0.286077>*emwtnyman\1 + <4.60786>*ETW  

 - <9.15619>*rwwtnyman/ahetwns + <0.132856>*EMMNNYMAn + <0.192202>*  

EMRTNYMAn

EQUATION EMTUNYMAn

emtunyman=  exp(<1.39558> + <0.773303>* log(emtunyman\1) - <0.620338>*  

 log(rwtunyman/aherns) + <0.283886>* log(er) - <0.0564813>*DUM89  

 - <0.0668826>*DUM86)

EQUATION EBPRNYMAn

EBPRNYMAn= <75.4951> + <0.541495>*ebprnyman\1 - <134.388>*RUNYMAN  

 + <1326.92>*yrpicnym/popnyman - <36.3314>*cpiunynj/cpiunynj\1  

 - <12.3707>*DUM89

QUEENS EQUATIONS
EQUATION RWFINYQUe

rwfinyque=  exp(<-7.49429> + <0.760461>* log(rwfinyque\1)  

 + <0.430411>* log(ahefirns) + <1.58583>* log(cpiunynj/cpi)  

 - <0.261101>*(dum88+dum89))

EQUATION RWMNNYQUe

RWMNNYQUe= <0.145263> + <0.936132>*rwmnnyqu\1 + <0.256037>*AHEMNS

EQUATION EMTUNYQUe

EMTUNYQUe= <0.350584>*emtunyque\1 + <6.17007>*DUM8991 - <0.198573>*  

TREND + <46.5084>*er/er\1

EQUATION RWWTNYQUe

rwwtnyque=  exp(<-2.26469> + <0.666615>* log(rwwtnyque\1)  

 + <0.391309>* log(ahetwns) + <0.548976>* log(cpiunynj/cpi)  

 - <0.0440621>*DUM91)

EQUATION RWSENYQUe

rwsenyque=  exp(<-1.73955> + <0.18845>* log(rwsenyque\1) + <0.788959>*  

 log(ahesvns) + <0.527591>* log(cpiunynj/cpi))

EQUATION YWPPTNYQue

YWPPTNYQ= <0.106444> + <0.408599>*ywpptnyq\1 + <0.00255762>*  

YENTNFADJ - <0.322939>*DUM89

EQUATION YOTHNYQUE

yothnyque=  exp(<-3.06121> + <0.724577>* log(yothnyque\1)  

 + <0.293756>* log(yoth) + <0.895212>* log(popnyque/n))

EQUATION EMMNNYQUe

EMMNNYQUe= <-22.3384> + <0.880996>*emmnnyque\1 + <2.24437>*EM  

 - <5.90121>*rwmnnyque/ahemns

EQUATION RWGONYQUe

RWGONYQUe= <-9.11107> + <0.393891>*rwgonyqu\1 + <0.968379>*RWSENYQUe  

 + <0.0672247>*cpiunynj/cpi

EQUATION EMSENYQUe

EMSENYQUe= <73.7112> + <0.980656>*emsenyque\1 - <30.6391>*  

rwsenyque/ahesvns + <4.65692>*DUM72

EQUATION EMFINYQUe

EMFINYQUe= <9.64236> + <0.404869>*emfinyque\1 + <243.907>*  

yrpicnyque/popnyque + <1.85068>*DUM81 - <1.43872>*DUM91

EQUATION EMCONYQUe

EMCONYQUe= <-204.667> + <0.681618>*emconyque\1 + <2.50321>*EC  

 + <207.626>*popnyque\1/popnyque\2 - <66.478>*RUNYQUE

EQUATION RWCONYQUe

RWCONYQUe= <-2.63915> + <0.921261>*rwconyque\1 + <2.59246>*  

(emconyque/ec)/(emconyque\1/ec\1) + <0.31391>*ahecns\1

EQUATION EMGONYQUe

EMGONYQUe= <-47.5909> + <0.420838>*emgonyque\1 - <36.5446>*RUNYQUE  

 + <779.388>*yrpicnyque/popnyque + <82.7822>*egsl/egsl\1

EQUATION RUNYQUE

RUNYQUE= <0.450457> + <0.553147>*runyque\1 + <0.00408739>*RUC  

 - <0.346098>*emtnnyqu/emtnnyque\1 - <0.096465>*  

emtnnyque\1/emtnnyque\2 - <0.0152088>*DUM87

EQUATION RWTUNYQUe

RWTUNYQUe= <-17.2168> + <2.82062>*AHERNS - <2.35938>*  

runyque/runyque\1 + <20.0334>*rwtunyque\1/rwtunyque\2 - <2.49795>*  

DUM73

EQUATION RWRTNYQUe

rwrtnyque=  exp(<-0.805284> + <0.867436>* log(rwrtnyque\1)  

 + <0.347394>* log(ahetrns) + <0.441314>* log(emrtnyque/etr))

EQUATION EMWTNYQUe

EMWTNYQUe= <18.4213> - <3.9679>*rwwtnyque/ahetwns + <0.119521>*  

EMMNNYQUe + <0.37405>*EMRTNYQUe

EQUATION WAGES

wagesnyque=rwconyque*emconyque+rwmnnyque*emmnnyque+rwtunyque*emtunyque +rwwtnyque*emwtnyque+rwrtnyque*emrtnyque+rwfinyque*emfinyque+  

 rwsenyque*emsenyque+rwgonyque*emgonyque

EQUATION YWWSDNYQue

YWWSDNYQue= <0.0238938> + <0.000909391>*WAGESNYQUE

EQUATION EMTNNYQUe

emtnnyque=emminyque+emconyque+emmnnyque+emtunyque+emwtnyque+emrtnyque+ emfinyque+emsenyque+emgonyque

EQUATION YRPICNYQue

yrpicnyque=ywwsdnyque+ywpptnyque+yothnyque

EQUATION EMRTNYQUe

EMRTNYQUe= <-86.4665> + <0.983062>*emrtnyque\1 + <87.7782>*  

popnyque/popnyque\1 - <93.9683>*(runyque-runyque\1)

EQUATION EBPRNYQUe

EBPRNYQUe= <0.966055>*ebprnyque\1 + <236.528>*yrpicnyque/popnyque  

 + <7.94714>*DUM88

RICHMOND EQUATIONS
EQUATION EMMNNYRIC

EMMNNYRIC= <-1.00987> + <0.918919>*emmnnyric\1 + <0.059521>*EM

EQUATION RWMNNYRIC

RWMNNYRIC= <-64.9636> + <3.79103>*AHEMNS + <0.562964>*cpiunynj/cpi

EQUATION EMCONYRIC

EMCONYRIC= <0.608895>*emconyric\1 + <1.01817>*EC - <0.0284053>*  

cpiunynj/cpi - <0.224862>*(rmmtgens-rmmtgens\1) - <0.510983>*DUM78

EQUATION RWCONYRIC

rwconyric=  exp(<0.432057> + <0.588926>* log(rwconyric\1)  

 + <0.372551>* log(ahecns) + <0.179153>* log(emconyric/ec))

EQUATION EMTUNYRIC

EMTUNYRIC= <-3.25753> + <0.72646>*emtunyric\1 + <0.507203>*ER  

 + <0.000782691>*EMTNNYMA

EQUATION RWTUNYRIC

rwtunyric= exp( <0.99377> + <0.297724>* log(rwtunyric\1)  

 + <0.614191>* log(aherns) + <0.253125>* log(emtunyric/er))

EQUATION RWRTNYRIC

RWRTNYRIC= <-14.2085> + <0.377982>*rwrtnyric\1 + <1.31342>*AHETRNS  

 + <0.131911>*cpiunynj/cpi

EQUATION EMFINYRIC

EMFINYRIC= <0.315411> + <0.366925>*emfinyric\1 + <0.260577>*EFIR  

 + <0.103918>*emconyric\1

EQUATION RWFINYRIC

RWFINYRIC= <-20.1299> + <0.851107>*rwfinyric\1 + <0.837223>*  

AHEFIRNS + <29.7925>*emfinyric/efir - <7.11853>*(dum88+dum89)

EQUATION RWSENYRIC

rwsenyric= exp( <-1.7715> + <0.569406>* log(rwsenyric\1)  

 + <0.424772>* log(ahesvns) + <0.466324>* log(cpiunynj/cpi))

EQUATION EMGONYRIC

EMGONYRIC= <-11.7592> + <0.710312>*emgonyric\1 + <2.46846>*EGF  

 + <0.023309>*popnyric\5

EQUATION RWGONYRIC

rwgonyric=  exp(<0.0392514> + <0.726119>* log(rwgonyric\1)  

 + <0.296734>* log(rwsenyric))

EQUATION YWPPTNYRIC

YWPPTNYRIC= <-0.0224266> + <0.298146>*ywpptnyric\1 + <0.000824224>*  

YENTNFADJ - <0.0631137>*DUM89

EQUATION YOTHNYRIC

YOTHNYRIC= <-0.968668> + <0.00374713>*YOTH + <0.00163682>*EMFINYMA  

 + <0.00135429>*EMGONYMA

EQUATION YWWSDNYRIC

YWWSDNYRIC= <0.038796> + <0.668237>*ywwsdnyric\1 + <0.000298411>*  

WAGESNYRIC

EQUATION WAGESNYRIC

WAGESNYRIC=EMMNNYRIC*RWMNNYRIC+EMCONYRIC*RWCONYRIC+EMTUNYRIC*RWTUNYRIC+EMWTNYRIC*RWWTNYRIC+EMRTNYRIC*RWRTNYRIC+EMFINYRIC*RWFINYRIC+  

 EMSENYRIC*RWSENYRIC+EMGONYRIC*RWGONYRIC

EQUATION YRPICNYRIC

YRPICNYRIC=YWWSDNYRIC+YWPPTNYRIC+YOTHNYRIC

EQUATION EMTNNYRIC

EMTNNYRIC=EMMNNYRIC+EMCONYRIC+EMTUNYRIC+EMWTNYRIC+EMRTNYRIC+EMFINYRIC+  

 EMSENYRIC+EMGONYRIC

EQUATION EMWTNYRIC

EMWTNYRIC= <7.53462> + <0.270641>*emwtnyric\1 - <0.0556885>*  

cpiunynj/cpi + <0.276228>*EMRTNYRIC

EQUATION RWWTNYRIC

rwwtnyric= exp( <-4.3727> + <0.296986>* log(rwwtnyric\1)  

 + <0.695713>* log(ahetwns) + <1.07194>* log(cpiunynj/cpi)  

 + <0.388507>* log(emwtnyric/etw))

EQUATION EMRTNYRIC

EMRTNYRIC= <6.20128> + <0.778676>*emrtnyric\1 - <0.0378595>*  

cpiunynj/cpi - <10.3579>*RUNYRIC + <0.843316>*DUM86 + <0.16108>*  

yrpicnyric\2

EQUATION EMSENYRIC

EMSENYRIC= <9.36202> + <0.181238>*emsenyric\1 + <0.367348>*ESV  

 - <3.02335>*rwsenyric/ahesvns + <519.389>*yrpicnyric/popnyric

EQUATION RUNYRIC

RUNYRIC= <0.539152>*runyric\1 + <0.0031029>*RUC - <0.290832>*  

emtnnyric/emtnnyric\1 + <0.303776>*popnyric/popnyric\1

EQUATION EBPRNYRIC

EBPRNYRIC= <-5.78873> + <0.803313>*ebprnyric\1 + <0.0253284>*  

POPNYRIC - <0.920262>*DUM87 + <1.16501>*DUM88

NASSAU EQUATIONS
EQUATION EMMINYNAs

EMMINYNAs= <-0.375759> + <0.770023>*EMI + <0.599937>*emminynas\1

EQUATION RWMNNYNAs

RWMNNYNAs= <-0.582713> + <0.829931>*rwmnnynas\1 + <0.0644795>*  

CPIUNYNJ

EQUATION RWTUNYNAs

RWTUNYNAs= <0.884234>*rwtunynas\1 + <0.425043>*AHERNS

EQUATION RWWTNYNAs

rwwtnynas=   exp(<-2.35148> + <0.68124>* log(rwwtnynas\1) + <0.384997>*  

 log(ahetwns) + <0.565044>* log(cpiunynj/cpi) )

EQUATION RWFINYNAs

RWFINYNAs= <-25.1719> + <0.545926>*rwfinynas\1 + <1.65957>*AHEFIRNS  

 + <0.206953>*cpiunynj/cpi - <4.32153>*(dum88+dum89) + <4.00116>*  

DUM87

EQUATION EMGONYNAs

EMGONYNAs= <-19.212> + <0.602405>*emgonynas\1 - <0.761558>*TREND  

 + <16.6045>*EGF + <5.75607>*DUM78 - <3.97882>*DUM92 + <1.65551>*  

EGSL

EQUATION RWGONYNAs

RWGONYNAs= 1.05 * RWGONYNAs\1

EQUATION YOTHNYNAS

YOTHNYNAS= <0.010837>*YOTH + <0.000730357>*EMTNNYMAs + <1.19338>*  

DUM89

EQUATION EBPRNYNAs

EBPRNYNAs= <77.3294> + <0.72674>*ebprnynas\1 + <1.1487>*TREND  

 - <0.112336>*emtnnynas\1 - <6.28586>*DUM87 + <8.90734>*DUM88

EQUATION RUNYNAS

RUNYNAS= <0.223235> + <0.877488>*runynas\1 - <0.0146038>*DUM73  

 - <0.355729>*emtnnymas/emtnnymas\1 + <0.0134497>*ruc/ruc\1  

 + <0.11784>*cpiunynj/cpiunynj\1 - <0.00766231>*DUM90

EQUATION EMMNNYNAs

EMMNNYNAs= <20.4606> + <0.829089>*emmnnynas\1 + <1.03811>*EM  

 - <9.25298>*rwmnnynas/ahemns

EQUATION EMCONYNAs

EMCONYNAs= <27.5263> - <1.46066>*(rmmtgens\1-rmmtgens\2)  

 - <89.5059>*RUNYNAS - <8.66673>*rwconynas/ahecns + <0.833956>*  

emconynas\1 - <4.78721>*DUM84

EQUATION RWCONYNAs

RWCONYNAs= <-2.43482> + <0.956627>*rwconynas\1 + <0.259496>*AHECNS  

 + <0.35327>*emconynas/ec

EQUATION EMTUNYNAs

EMTUNYNAs= <44.2661> + <256.045>*(yrpicnyn/popnynas) - <19.4415>*  

cpiunynj\1/cpiunynj\2 - <2.80334>*DUM92 - <1.56976>*  

rwtunynas\1/aherns\1

EQUATION EMWTNYNAs

EMWTNYNAs= <9.1653> + <0.288917>*emwtnynas\1 + <0.4083>*EMRTNYNAs  

 - <0.298807>*cpiunynj/cpi + <0.303891>*TREND

EQUATION EMRTNYNAs

EMRTNYNAs= <34.9243> + <0.782639>*emrtnynas\1 - <44.5401>*RUNYNAS  

 + <78.6685>*yrpicnynas/yrpicnynas\1 - <87.0697>*cpiunynj/cpiunynj\1

EQUATION RWRTNYNAs

RWRTNYNAs= <-11.0231> + <0.859931>*rwrtnynas\1 + <0.760611>*AHETRNS  

 + <0.0710882>*cpiunynj/cpi + <0.267522>*emrtnynas/etr

EQUATION EMFINYNAs

EMFINYNAs= <4.7325> + <8.12526>*EFIR - <3.20517>*rwfinynas/ahefirns  

 + <364.776>*yrpicnynas/popnynas - <0.78504>*RMMTGENS

EQUATION EMSENYNAs

EMSENYNAs= <-37.281> + <0.969758>*emsenynas\1 - <69.3199>*  

cpiunynj/cpiunynj\1 - <61.3052>*RUNYNAS + <114.103>*  

yrpicnynas/yrpicnynas\1

EQUATION RWSENYNAs

RWSENYNAs= <-4.11897> + <0.881678>*rwsenynas\1 + <0.569387>*AHESVNS  

 + <0.47825>*emsenynas/esv

EQUATION YWWSDNYNas

YWWSDNYNas= <0.064578> + <0.309988>*ywwsdnynas\1 + <0.000659283>*  

WAGESNYNAS

EQUATION YWPPTNYNas

ywpptnynas=   exp(<-10.444> + <1.05998>* log(yentnfadj) + <1.08653>*  

 log(emtnnynas/eea) + <0.751041>* log(ebprnynas) + <0.156338>*DUM87  

 - <0.201346>*DUM89)

EQUATION EMTNNYNAs

EMTNNYNAs=EMMINYNAs+EMMNNYNAs+EMCONYNAs+EMTUNYNAs+EMWTNYNAs+

EMRTNYNAs+ EMFINYNAs+EMSENYNAs+EMGONYNAs

EQUATION YRPICNYNas

YRPICNYNas=YWWSDNYNas+YWPPTNYNas+YOTHNYNAS

EQUATION WAGESNYNAS

WAGESNYNAS=EMMINYNAs*RWMINYNAs+EMMNNYNAs*RWMNNYNAs+EMCONYNAs

*RWCONYNAs+EMTUNYNAs*RWTUNYNAs+EMWTNYNAs*RWWTNYNAs+EMRTNYNAs

*RWRTNYNAs+EMFINYNAs*RWFINYNAs+EMSENYNAs*RWSENYNAs+EMGONYNAs*

RWGONYNAs

SUFFOLK EQUATIONS
EQUATION EMCONYSUf

EMCONYSUf= <-54.6833> + <0.981379>*emconysuf\1 - <0.487229>*  

cpiunynj/cpi + <105.482>*popnysuf\1/popnysuf\2 - <0.969119>*  

(rmmtgens\1-rmmtgens\2)

EQUATION RWCONYSUf

RWCONYSUf= <-0.00113095> + <0.754569>*rwconysuf\1 + <0.396184>*  

ahecns/1000 + <0.000629823>*emconysuf/ec

EQUATION RWMNNYSUf

RWMNNYSUf= <0.93877>*rwmnnysuf\1 + <0.334689>*ahemns/1000

EQUATION RWTUNYSUf

RWTUNYSUf= <-0.0134661> + <0.507955>*rwtunysuf\1 + <1.31368>*  

aherns/1000 + <0.121928>*cpiunynj/cpi/1000

EQUATION RWWTNYSUf

RWWTNYSUf= <-0.0403849> + <0.452541>*rwwtnysuf\1 + <2.14039>*  

ahetwns/1000 + <0.348455>*cpiunynj/cpi/1000

EQUATION RWRTNYSUf

RWRTNYSUf= <-0.0258989> + <0.364774>*rwrtnysuf\1 + <1.85923>*  

ahetrns/1000 + <0.228086>*cpiunynj/1000/cpi

EQUATION EMFINYSUf

EMFINYSUf= <-4.4396> + <0.325773>*emfinysuf\1 + <3.51518>*EFIR  

 - <0.167358>*RMMTGENS

EQUATION RWFINYSUf

RWFINYSUf= <-0.0224112> + <0.705867>*rwfinysuf\1 + <1.11644>*  

ahefirns/1000 - <4.11663>*((dum88+dum89)/1000) + <0.186748>*  

cpiunynj/1000/cpi + <1.99636>*dum87/1000

EQUATION RWSENYSUf

RWSENYSUf= <-0.00685004> + <0.4498>*rwsenysuf\1 + <1.33815>*  

ahesvns/1000 + <0.065183>*cpiunynj/cpi/1000

EQUATION EMGONYSUf

EMGONYSUf= <-29.7579> + <0.731459>*emgonysuf\1 + <0.0393084>*  

popnysuf\1

EQUATION RWGONYSUf

RWGONYSUf= <-0.00201363> + <0.636319>*rwgonysuf\1 + <0.661736>*  

RWSENYSUf

EQUATION YOTHNYSUF

YOTHNYSUF= <-6.23769> + <0.696405>*yothnysuf\1 + <0.00311752>*YOTH  

 + <1.16266>*popnysuf/n

EQUATION YWWSDNYSuf

YWWSDNYSuf= <0.223596> + <0.7747>*WAGESNYSUF + <0.246356>*ywwsdnysuf\1

EQUATION WAGESNYSUF

WAGESNYSUF=EMMINYSUf*RWMINYSUf+EMCONYSUf*RWCONYSUf+EMMNNYSUf

*RWMNNYSUf+EMTUNYSUf*RWTUNYSUf+EMWTNYSUf*RWWTNYSUf+EMRTNYSUf*

RWRTNYSUf+EMFINYSUf*RWFINYSUf+EMSENYSUf*RWSENYSUf+EMGONYSUf*RWGONYSUf

EQUATION YRPICNYSuf

YRPICNYSuf=YWWSDNYSuf+YWPPTNYSuf+YOTHNYSUF

EQUATION EMTNNYSUf

EMTNNYSUf=EMMINYSUf+EMMNNYSUf+EMCONYSUf+EMTUNYSUf+EMWTNYSUf+

EMRTNYSUf+ EMFINYSUf+EMSENYSUf+EMGONYSUf

EQUATION EMTUNYSUf

EMTUNYSUf= <11.0935> + <0.46919>*emtunysuf\1 - <0.0857096>*  

cpiunynj/cpi + <241.617>*yrpicnys/popnysuf + <0.170849>*EMTUNYNAs

EQUATION EMWTNYSUf

EMWTNYSUf= <5.98384> + <0.294426>*emwtnysuf\1 - <0.144166>*  

cpiunynj/cpi + <0.0242389>*EMMNNYSUf + <0.349787>*EMRTNYSUf

EQUATION EMSENYSUf

EMSENYSUf= <20.2095> + <0.397785>*emsenysuf\1 + <2513.39>*  

yrpicnysuf/popnysuf

EQUATION URNYSUF

URNYSUF= <-1.39093> + <0.622062>*urnysuf\1 - <0.47618>*  

emtnnysuf/emtnnysuf\1 + <1.88134>*popnysuf/popnysuf\1 + <0.00468176>*  

RUC - <0.0228498>*(dum87+dum88) - <0.0278405>*DUM90

EQUATION EMRTNYSUf

EMRTNYSUf= <37.8315> + <0.955816>*emrtnysuf\1 - <0.314169>*  

cpiunynj/cpi - <3.80553>*DUM80 - <46.9481>*(urnysuf-urnysuf\1)

EQUATION YWPPTNYSuf

ywpptnysuf=  exp(<-6.24909> + <0.90625>* log(yentnfadj) + <0.970272>*  

 log(emtnnysuf/eea) - <0.177703>*DUM89)

EQUATION EMMNNYSUf

EMMNNYSUf= <0.975036>*emmnnysuf\1 - <13472.9>*rwmnnysuf/ahemns  

 + <36.6422>*em/em\1 + <255.045>*yrpicnysuf/popnysuf - <5.04436>*  

DUM91

EQUATION EBPRNYSUf

EBPRNYSUf= <20.4158> + <0.569973>*ebprnysuf\1 + <922.214>*  

yrpicnysuf/popnysuf - <5.34861>*DUM87

DUTCHESS EQUATIONS
EQUATION EMRTNYDUT

EMRTNYDUT= <0.29732>*ETR + <0.70395>*emrtnydut\1

EQUATION RWRTNYDUT

rwrtnydut=  exp(<0.137798> + <0.141295>* log(ahetrns) + <0.860083>*  

 log(rwrtnydut\1))

EQUATION RWCONYDUT

rwconydut=  exp(<0.117443> + <0.252023>* log(ahecns) + <0.776563>*  

 log(rwconydut\1))

EQUATION RWTUNYDUT

rwtunydut=  exp(<0.574319> + <0.525078>* log(aherns) + <0.445769>*  

 log(rwtunydut\1))

EQUATION RWSENYDUT

rwsenydut=  exp(<0.22919> + <0.217562>* log(ahesvns) + <0.769156>*  

 log(rwsenydut\1))

EQUATION YOTHNYDUT

yothnydut=  exp(<-3.70838> + <0.536599>* log(yothnydut\1)  

 + <1.85843>* log(popnydut/n) + <0.542781>* log(yoth))

EQUATION RWFINYDUT

rwfinydut=  exp(<-0.115252> + <0.325867>* log(ahefirns)  

 + <0.807176>* log(rwfinydut\1) - <0.282226>*DUM88)

EQUATION RWMINYDUT

rwminydut=  exp(<0.997178>* log(rwminydut\1))

EQUATION RWMNNYDUT

rwmnnydut=  exp(<-9.78551> + <1.34839>* log(ahemns) + <2.23906>*  

 log(cpiunynj/cpi))

EQUATION RWGONYDUT

RWGONYDUT= <-0.459315> + <0.877972>*rwgonydut\1 + <0.271465>*  

RWSENYDUT

EQUATION EMTUNYDUT

EMTUNYDUT= <-0.377558> + <0.670136>*emtunydut\1 + <0.284016>*ER

EQUATION RWWTNYDUT

rwwtnydut=  exp(<-3.27237> + <1.22677>* log(ahetwns) + <0.918252>*  

 log(cpiunynj/cpi) + <0.509548>* log(emwtnydut/etw))

EQUATION EMSENYDUT

EMSENYDUT= <5.53756> + <0.489893>*emsenydut\1 - <20.2237>*RUNYDUT  

 + <489.233>*yrpicnydut/popnydut

EQUATION EMMNNYDUT

EMMNNYDUT= <69.0609> - <2.48355>*rwmnnydut/ahemns - <0.389337>*  

cpiunynj/cpi + <0.459763>*emmnnydut\1 - <61.3251>*RUNYDUT

EQUATION YWWSDNYDUT

YWWSDNYDUT= <0.0291367> + <0.943642>*wagesnydut/1000

EQUATION YWPPTNYDUT

ywpptnydut=  exp(<-3.52644> + <0.51964>* log(ywpptnydut\1)  

 + <0.497393>* log(yentnfadj) + <0.823091>* log(emtnnydut/eea))

EQUATION EMTNNYDUT

EMTNNYDUT=EMCONYDUT+EMFINYDUT+EMGONYDUT+EMMNNYDUT+EMRTNYDUT+  

EMSENYDUT+EMTUNYDUT+EMWTNYDUT+EMMINYDUT

EQUATION WAGESNYDUT

WAGESNYDUT=EMCONYDUT*RWCONYDUT+EMFINYDUT*RWFINYDUT+  

EMGONYDUT*RWGONYDUT+EMMNNYDUT*RWMNNYDUT+EMRTNYDUT*RWRTNYDUT+  

EMSENYDUT*RWSENYDUT+EMTUNYDUT*RWTUNYDUT+EMWTNYDUT*RWWTNYDUT+  

EMMINYDUT*RWMINYDUT

EQUATION YRPICNYDUT

YRPICNYDUT=YWWSDNYDUT+YWPPTNYDUT+YOTHNYDUT

EQUATION EMWTNYDUT

EMWTNYDUT= <-1.74378> + <0.829277>*emwtnydut\1 - <0.412983>*DUM88  

 + <2.04936>*yrpicnydut/yrpicnydut\1

EQUATION EMFINYDUT

EMFINYDUT= <-0.269715> + <0.632983>*emfinydut\1 + <0.322817>*EFIR  

 - <6.54736>*RUNYDUT + <0.0420937>*(rmmtgens-rmgbs3ns)

EQUATION EMGONYDUT

EMGONYDUT= <51.1907> + <0.824829>*EGSL - <0.359011>*cpiunynj/cpi  

 - <49.7015>*RUNYDUT

EQUATION RUNYDUT

RUNYDUT= <0.0383742> + <0.124754>*runydut\1 + <0.00815205>*RUC  

 - <0.176443>*emtnnydut/eea + <0.132819>*popnydut/n + <0.0080518>*  

DUM89 - <0.00730062>*DUM73

EQUATION EMCONYDUT

EMCONYDUT= <31.3762> + <0.769563>*emconydut\1 - <0.252223>*  

cpiunynj/cpi - <0.268198>*RMMTGENS - <27.8634>*RUNYDUT - <1.06312>*  

(dum79+dum80)

EQUATION EBPRNYDUT

EBPRNYDUT= <-5.88295> + <0.0812601>*cpiunynj/cpi + <0.665903>*  

ebprnydut\1 + <0.72658>*YRPICNYDUT

ORANGE EQUATIONS
EQUATION EMCONYORA

EMCONYORA= <-0.235481>*RMMTGENS + <0.57439>*emconyora\1  

 + <0.806976>*EC

EQUATION RWMNNYORA

rwmnnyora=  exp(<-2.13603> + <0.321026>* log(ahemns) + <0.501592>*  

 log(cpiunynj/cpi) + <0.719131>* log(rwmnnyora\1))

EQUATION RWTUNYORA

rwtunyora=  exp(<-9.33943> + <0.435369>* log(aherns) + <2.04521>*  

 log(popnyora))

EQUATION EMMNNYORA

EMMNNYORA= <-2.36576>*RWMNNYORA/AHEMNS + <0.246803>*EMMNNYORA\1  

 - <0.151127>*RMMBCAAANS + <0.949088>*EM

EQUATION RWFINYORA

RWFINYORA=   exp(<-13.7902> + <1.15968>* LOG(AHEFIRNS) + <2.97804>*  

 LOG(CPIUNYNJ/CPI))

EQUATION YOTHNYORA

YOTHNYORA= <-1.68202> + <0.18465>*yothnyora\1 + <0.00119681>*YOTH  

 + <0.999389>*popnyora/n + <0.00168979>*(emtnnywes+emtnnyroc)

EQUATION EMTUNYORA

EMTUNYORA= <1.12718>*ER - <0.0212793>*cpiunynj/cpi + <0.00825079>*  

POPNYORA - <6.83472>*RUNYORA

EQUATION EMGONYORA

EMGONYORA= <5.12997> - <12.0049>*RUNYORA - <0.0548428>*  

100*(gdp87/gdp87\1-1)  + <0.76189>*emgonyora\1 + <88.1737>*yrpicnyora/popnyora

EQUATION YWWSDNYORA

YWWSDNYORA= <0.000579622>*WAGESNYORA + <0.484879>*YWWSDNYORA\1

EQUATION YWPPTNYORA

ywpptnyora=  exp(<-6.24968> + <0.88119>* log(yentnfadj)  

 + <1.72847>* log(emtnnyora/eea))

EQUATION YRPICNYORA

YRPICNYORA=YWWSDNYORA+YWPPTNYORA+YOTHNYORA

EQUATION EMTNNYORA

EMTNNYORA=EMCONYORA+EMMNNYORA+EMTUNYORA+EMWTNYORA+EMRTNYORA+ 

EMFINYORA+EMSENYORA+EMGONYORA+EMMINYORA

EQUATION WAGESNYORA

WAGESNYORA=EMCONYORA*RWCONYORA+EMMNNYORA*RWMNNYORA+ 

EMTUNYORA*RWTUNYORA+EMWTNYORA*RWWTNYORA+EMRTNYORA*RWRTNYORA+ 

EMFINYORA*RWFINYORA+EMSENYORA*RWSENYORA+EMGONYORA*RWGONYORA+ 

EMMINYORA*RWMINYORA

EQUATION RWCONYORA

RWCONYORA=   exp(<-9.19778> + <0.932361>* LOG(AHECNS) + <1.94814>*  

 LOG(CPIUNYNJ/CPI) - <0.306203>* LOG(RUNYORA))

EQUATION EMRTNYORA

EMRTNYORA= <5.24943> + <0.848363>*ETR + <203.936>*  

YRPICNYORA/POPNYORA - <41.2107>*RUNYORA - <0.182832>*RMGBS3NS

EQUATION RWRTNYORA

RWRTNYORA=   exp(<-3.38841> + <0.505049>* LOG(AHETRNS) + <0.773769>*  

 LOG(CPIUNYNJ/CPI) - <0.0641141>* LOG(RUNYORA) + <0.496268>*  

 LOG(RWRTNYORA\1))

EQUATION EMFINYORA

EMFINYORA= <0.113624>*EFIR + <0.911968>*EMFINYORA\1 - <2.57292>*  

RUNYORA

EQUATION RWSENYORA

rwsenyora=   exp(<-4.86475> + <1.02205>* log(ahesvns) + <1.13097>*  

 log(cpiunynj/cpi) - <0.0968043>* log(runyora))

EQUATION EMWTNYORA

EMWTNYORA= <2.78027> + <0.460704>*emwtnyora\1 - <0.0316598>*  

cpiunynj/cpi + <0.167038>*EMRTNYORA

EQUATION RWWTNYORA

rwwtnyora=  exp(<0.741843> + <0.548657>* log(rwwtnyora\1)  

 + <0.333683>* log(ahetwns) + <0.335517>* log(emwtnyora/etw))

EQUATION EMSENYORA

EMSENYORA= <1.94728> + <0.575982>*emsenyora\1 + <484.56>*  

yrpicnyora/popnyora

EQUATION RWGONYORA

rwgonyora= exp( <0.649285>* log(rwsenyora\1) + <0.433538>*  

 log(rwsenyora))

EQUATION RUNYORA

RUNYORA= <0.194776> + <0.851112>*runyora\1 - <0.181732>*  

emtnnyora/emtnnyora\1 + <0.00543125>*(ruc-ruc\1) + <0.0116575>*  

DUM89

EQUATION EBPRNYORA

EBPRNYORA= <-0.932598> + <0.914762>*ebprnyora\1 + <0.0307962>*  

EMTNNYORA

PUTNAM EQUATIONS
EQUATION RWSENYPUT

rwsenyput=  exp(<0.405284>* log(ahesvns) + <0.0943521>*  

 log(cpiunynj/cpi) + <0.543706>* log(rwsenyput\1))

EQUATION RWMNNYPUT

rwmnnyput=  exp(<0.303594>* log(ahemns) + <0.0170239>*  

 log(cpiunynj/cpi) + <0.779898>* log(rwmnnyput\1))

EQUATION YOTHNYPUT

yothnyput= exp(<0.823103> + <0.920179>* log(yothnyput\1)  

 + <0.686665>* log(popnyput/n))

EQUATION EMFINYPUT

EMFINYPUT= <0.174994> + <0.0451111>*EFIR + <0.550709>*emfinyput\1  

 - <0.379838>*DUM88 - <0.161313>*DUM89

EQUATION RWWTNYPUT

rwwtnyput= exp(<0.273051>* log(ahetwns) + <0.024998>*  

 log(cpiunynj/cpi) + <0.786283>* log(RWWTNYPUT\1))

EQUATION EMRTNYPUT

EMRTNYPUT= <2.11964> - <0.0175697>*cpiunynj/cpi + <0.920772>*  

emrtnyput\1

EQUATION RWRTNYPUT

rwrtnyput= exp(<0.628697> + <0.136293>* log(ahetrns) + <0.198768>*  

 log(emrtnyput/etr) + <0.803989>* log(rwrtnyput\1))

EQUATION RWFINYPUT

rwfinyput=  exp(<-22.5148> + <1.07346>* log(ahefirns) + <5.0263>*  

 log(cpiunynj/cpi) + <1.23254>* log(emfinyput/efir) + <0.707616>*  

 log(rwfinyput\1) - <0.197773>*DUM92)

EQUATION RWGONYPUT

RWGONYPUT= <-1.06238> + <0.876525>*rwgonyput\1 + <0.338767>*  

RWSENYPUT

EQUATION RUNYPUT

RUNYPUT= <-0.304686> + <0.68524>*runyput\1 + <0.00455626>*RUC  

 + <0.286055>*popnyput/popnyput\1 - <0.0187702>*DUM84

EQUATION EMCONYPUT

EMCONYPUT= <-0.676513> + <0.562295>*emconyput\1 + <0.294119>*EC  

 - <3.47435>*RUNYPUT - <0.230782>*DUM80 + <0.231703>*DUM75

EQUATION RWCONYPUT

rwconyput= exp(<0.81907>* log(ahecns) + <0.276514>*  

 log(cpiunynj/cpi) + <0.173881>* log(emconyput/ec))

EQUATION EMTUNYPUT

EMTUNYPUT= <0.0699687> + <0.742999>*emtunyput\1 + <3.6103>*  

yrpicnyput/popnyput - <0.14522>*DUM83 + <0.253954>*DUM88  

 - <0.108636>*DUM80

EQUATION RWTUNYPUT

rwtunyput= exp(<0.0935207>* log(cpiunynj/cpi) + <0.044878>*  

 log(emtunyput/er) + <0.914254>* log(rwtunyput\1))

EQUATION EMSENYPUT

EMSENYPUT= <0.497587> + <0.564163>*emsenyput\1 + <82.9053>*  

yrpicnyput/popnyput

EQUATION WAGESNYPUT

WAGESNYPUT=EMCONYPUT*RWCONYPUT+EMFINYPUT*RWFINYPUT+  

EMGONYPUT*RWGONYPUT+EMMNNYPUT*RWMNNYPUT+EMRTNYPUT*RWRTNYPUT+  

EMSENYPUT*RWSENYPUT+EMTUNYPUT*RWTUNYPUT+EMWTNYPUT*RWWTNYPUT+  

EMMINYPUT*RWMINYPUT

EQUATION YRPICNYPUT

YRPICNYPUT=YWWSDNYPUT+YWPPTNYPUT+YOTHNYPUT

EQUATION YWWSDNYPUT

YWWSDNYPUT= <0.00446832> + <0.999079>*wagesnyput/1000

EQUATION EMTNNYPUT

EMTNNYPUT=EMCONYPUT+EMFINYPUT+EMGONYPUT+EMMNNYPUT+EMRTNYPUT+  

EMSENYPUT+EMTUNYPUT+EMWTNYPUT+EMMINYPUT

EQUATION EMMNNYPUT

EMMNNYPUT= <0.04359>*EM + <54.0793>*yrpicnyput/popnyput  

 - <0.0168048>*RMGBS3NS

EQUATION EMWTNYPUT

EMWTNYPUT= <0.185525> + <0.631494>*emwtnyput\1 + <0.0831285>*  

EMMNNYPUT - <0.0111487>*RMGBS3NS

EQUATION YWPPTNYPUT

ywpptnyput= exp(<-3.33602> + <0.410192>* log(ywpptnyput\1)  

 + <0.492433>* log(yentnfadj) + <0.49721>* log(emtnnyput/eea)  

 - <0.200717>*DUM89 )

EQUATION EMGONYPUT

EMGONYPUT= <2.70328> + <58.2033>*yrpicnyput/popnyput - <1.74676>*  

RUNYPUT

EQUATION EBPRNYPUT

EBPRNYPUT= <2.02744> + <0.625202>*ebprnyput\1 - <0.00897325>*  

cpiunynj/cpi + <0.816873>*YRPICNYPUT

ROCKLAND EQUATIONS

EQUATION RWTUNYROC

rwtunyroc=  exp(<-6.70888> + <0.605055>* log(aherns) + <1.45343>*  

 log(cpiunynj/cpi) + <0.593325>* log(rwtunyroc\1))

EQUATION RWFINYROC

rwfinyroc= exp( <-7.34705> + <0.380021>* log(rwfinyroc\1)  

 + <0.886402>* log(ahefirns) + <1.54154>* log(cpiunynj/cpi))

EQUATION RWMNNYROC

rwmnnyroc= exp( <-2.54352> + <0.701641>* log(rwmnnyroc\1)  

 + <0.387354>* log(ahemns) + <0.589693>* log(cpiunynj/cpi))

EQUATION YWPPTNYROC

ywpptnyroc= exp( <-5.37355> + <0.271845>* log(ywpptnyroc\1)  

 + <0.821151>* log(yentnfadj))

EQUATION YOTHNYROC

yothnyroc= exp( <-5.71055> + <0.279038>* log(yothnyroc\1)  

 + <0.671355>* log(yoth) + <1.84412>* log(popnyroc/n) + <0.258153>*  

 log(emtnnywe))

EQUATION EMTUNYROC

EMTUNYROC= <-3.01619> + <1.21284>*ER - <0.683188>*rwtunyroc/aherns  

 + <0.877721>*emtunyroc\1 - <0.0815447>*RMGBS3NS

EQUATION RWWTNYROC

rwwtnyroc= exp( <-5.02169> + <0.543053>* log(rwwtnyroc\1)  

 + <0.547147>* log(ahetwns) + <1.09951>* log(cpiunynj/cpi)  

 - <0.0732424>* log(runyroc))

EQUATION EMFINYROC

EMFINYROC= <0.737954>*EFIR + <37.939>*yrpicnyroc/popnyroc  

 - <0.114685>*RMMTGENS - <0.539517>*rwfinyroc/ahefirns  

 + <0.268987>*emfinyroc\1

EQUATION RWSENYROC

rwsenyroc= exp( <-3.67346> + <0.531801>* log(ahesvns) + <0.834842>*  

 log(cpiunynj/cpi) - <0.0546917>* log(runyroc) + <0.49628>*  

 log(rwsenyroc\1))

EQUATION EMSENYROC

EMSENYROC= <5.2606> + <0.496285>*emsenyroc\1 + <354.638>*  

yrpicnyroc/popnyroc

EQUATION EMGONYROC

EMGONYROC= <0.769267>*emgonyroc\1 + <4.79955>*popnyroc/popnyroc\1  

 - <23.6337>*(runyroc-runyroc\1)

EQUATION RUNYROC

RUNYROC= <-0.0858469> + <0.679703>*runyroc\1 - <0.249606>*  

emtnnyroc/emtnnyroc\1 + <0.356651>*popnyroc/popnyroc\1  

 - <0.0141187>*DUM87 - <0.0114972>*DUM90

EQUATION RWCONYROC

rwconyroc= exp( <0.810029>* log(rwconyroc\1) + <0.104978>*  

 log(emconyroc/ec) + <0.0405762>* log(cpiunynj/cpi) + <0.197303>*  

 log(ahecns))

EQUATION RWRTNYROC

rwrtnyroc= exp( <0.0984711>* log(ahetrns) + <0.905807>*  

 log(rwrtnyroc\1) - <0.0358768>* log(runyroc))

EQUATION EMWTNYROC

EMWTNYROC= <3.96101> + <0.912885>*emwtnyroc\1 - <0.0274635>*  

cpiunynj/cpi - <10.6953>*RUNYROC - <0.450267>*DUM79

EQUATION EMCONYROC

EMCONYROC= <5.79099> + <0.405024>*emconyroc\1 - <38.5599>*RUNYROC  

 - <1.79789>*rmmtgens/rmmtgens\1

EQUATION RWGONYROC

rwgonyroc= exp( <0.839155> + <0.800542>* log(rwgonyroc\1)  

 - <0.23028>* log(cpiunynj/cpi) + <0.200476>* log(rwsenyroc)  

 - <0.0671057>* log(runyroc/ruc))

EQUATION EMMNNYROC

EMMNNYROC= <5.52635> + <0.603134>*EM - <0.104944>*cpiunynj/cpi  

 - <1.2544>*rwmnnyroc/ahemns + <10.9935>*gdp87/gdp87\1 + <0.30723>*  

YRPICNYROC - <0.158264>*(rmgbs3ns-rmgbs3ns\1)

EQUATION EMRTNYROC

EMRTNYROC= <1.04773> + <0.89864>*emrtnyroc\1 - <0.0413183>*  

cpiunynj/cpi + <4.52515>*yrpicnyroc/yrpicnyroc\1

EQUATION YRPICNYROC

YRPICNYROC=YWWSDNYROC+YWPPTNYROC+YOTHNYROC

EQUATION WAGESNYROC

WAGESNYROC=EMMNNYROC*RWMNNYROC+EMCONYROC*RWCONYROC+EMTUNYROC*  

 RWTUNYROC+EMWTNYROC*RWWTNYROC+EMRTNYROC*RWRTNYROC+EMFINYROC*  

 RWFINYROC+EMSENYROC*RWSENYROC+EMGONYROC*RWGONYROC

EQUATION EMTNNYROC

EMTNNYROC=EMMNNYROC+EMCONYROC+EMTUNYROC+EMWTNYROC+EMRTNYROC+  

 EMFINYROC+EMSENYROC+EMGONYROC

EQUATION YWWSDNYROC

YWWSDNYROC= <0.0116529> + <0.1934>*ywwsdnyroc\1 + <0.000787749>*  

WAGESNYROC

EQUATION EBPRNYROC

EBPRNYROC= <2.37994> + <0.669881>*ebprnyroc\1 + <21.3645>*RUNYROC  

 + <154.373>*yrpicnyroc/popnyroc

SULLIVAN EQUATIONS

EQUATION RWSENYSUL

rwsenysul=  exp(<0.204032>* log(ahesvns) + <0.0284771>*  

 log(cpiunynj/cpi) + <0.80821>* log(rwsenysul\1))

EQUATION RWMNNYSUL

rwmnnysul=  exp(<-17.6691> + <1.05633>* log(ahemns) + <3.90855>*  

 log(cpiunynj/cpi))

EQUATION RWTUNYSUL

rwtunysul=  exp(<-6.09609> + <0.497724>* log(aherns) + <1.27083>*  

 log(cpiunynj/cpi) + <0.734648>* log(rwtunysul\1))

EQUATION EMWTNYSUL

EMWTNYSUL= <0.984126> - <0.00775074>*cpiunynj/cpi + <0.829212>*  

emwtnysul\1 - <0.17493>*DUM90 - <0.107576>*DUM91

EQUATION RWWTNYSUL

rwwtnysul=  exp(<-7.0607> + <0.686535>* log(ahetwns) + <1.60318>*  

 log(cpiunynj/cpi) + <0.173455>* log(emwtnysul/etw) + <0.475366>*  

 log(rwwtnysul\1))

EQUATION YOTHNYSUL

yothnysul= exp( <-6.39294> + <1.00695>* log(yoth) + <1.21629>*  

 log(popnysul/n))

EQUATION RWGONYSUL

rwgonysul= exp( <0.0474328> + <0.590251>* log(rwgonysul\1)  

 + <0.459637>* log(rwsenysul))

EQUATION EMMNNYSUL

EMMNNYSUL= <0.385955> + <0.173544>*emmnnysul\1 + <0.0233965>*EM  

 + <0.230795>*DUM79

EQUATION RWCONYSUL

rwconysul= exp(<0.295898> + <0.47537>* log(ahecns) + <0.129741>*  

 log(emconysul/ec) + <0.567318>* log(rwconysul\1))

EQUATION EMRTNYSUL

EMRTNYSUL= <1.98514> + <0.0391886>*ETR + <0.446396>*emrtnysul\1  

 - <7.72702>*RUNYSUL

EQUATION RWRTNYSUL

rwrtnysul=  exp(<-5.51862> + <0.86683>* log(ahetrns) + <1.39771>*  

 log(cpiunynj/cpi) + <0.562125>* log(emrtnysul/etr) + <0.344583>*  

 log(rwrtnysul\1))

EQUATION EMSENYSUL

EMSENYSUL= <15.738> + <0.096268>*ESV - <1.25669>*rwsenysul/ahesvns  

 - <0.0538341>*cpiunynj/cpi - <6.90288>*RUNYSUL

EQUATION RWFINYSUL

rwfinysul=  exp(<0.564432>* log(ahefirns) + <0.133436>*  

 log(cpiunynj/cpi) + <0.379004>* log(emfinysul/efir) + <0.550977>*  

 log(rwfinysul\1) - <0.224697>*DUM82 + <0.26632>*DUM86)

EQUATION EMGONYSUL

EMGONYSUL= <-3.66372> + <2.11293>*EGF + <0.367353>*emgonysul\1  

 + <62.6279>*yrpicnysul/popnysul

EQUATION EMTUNYSUL

EMTUNYSUL= <0.14626>*ER + <15.0895>*yrpicnysul/popnysul  

 + <0.0974741>*DUM82

EQUATION EMTNNYSUL

EMTNNYSUL=EMCONYSUL+EMRTNYSUL+EMSENYSUL+EMFINYSUL+EMMINYSUL+

EMGONYSUL+  EMMNNYSUL+EMTUNYSUL+EMWTNYSUL

EQUATION WAGESNYSUL

WAGESNYSUL=EMCONYSUL*RWCONYSUL+EMRTNYSUL*RWRTNYSUL+EMSENYSUL*

RWSENYSUL+EMFINYSUL*RWFINYSUL+EMMINYSUL*RWMINYSUL+EMGONYSUL*RWGONYSUL+ EMMNNYSUL*RWMNNYSUL+EMTUNYSUL*RWTUNYSUL+EMWTNYSUL*RWWTNYSUL

EQUATION YWPPTNYSUL

ywpptnysul= exp( <-2.87854> + <0.469237>* log(ywpptnysul\1)  

 + <0.708983>* log(yentnfadj) + <1.6286>* log(emtnnysul/eea))

EQUATION EMCONYSUL

EMCONYSUL= <-1.70208> + <0.53559>*emconysul\1 - <9.96485>*RUNYSUL  

 + <2.82091>*popnysul/popnysul\1 + <0.188749>*DUM77

EQUATION EMFINYSUL

EMFINYSUL= <0.185593> + <0.579377>*emfinysul\1 + <18.4457>*  

yrpicnysul/popnysul + <0.119996>*DUM73

EQUATION RUNYSUL

RUNYSUL= <-0.116888> + <0.733072>*runysul\1 + <0.00232038>*RUC  

 + <0.369356>*popnysul/popnysul\1 - <0.247309>*  

emtnnysul/emtnnysul\1 - <0.0301566>*DUM73 - <0.0148168>*DUM87

EQUATION YRPICNYSUL

YRPICNYSUL=YWWSDNYSUL+YWPPTNYSUL+YOTHNYSUL

EQUATION YWWSDNYSUL

YWWSDNYSUL= <0.034219> + <0.000858448>*WAGESNYSUL

EQUATION EBPRNYSUL

EBPRNYSUL= <2.32382> + <0.487977>*ebprnysul\1 + <43.8108>*  

yrpicnysul/popnysul

ULSTER EQUATIONS

EQUATION RWTUNYULS

rwtunyuls=  exp(<0.682451> + <0.495797>* log(aherns) + <0.402549>*  

 log(rwtunyuls\1))

EQUATION YOTHNYULS

yothnyuls=  exp(<-4.62523> + <0.270689>* log(yothnyuls\1)  

 + <0.735536>* log(yoth) + <1.36976>* log(popnyuls/n))

EQUATION RWMNNYULS

rwmnnyuls=  exp(<0.802337>* log(rwmnnyuls\1) + <0.233296>*  

 log(ahemns) + <0.0467123>* log(cpiunynj/cpi))

EQUATION EMCONYULS

EMCONYULS= <0.256052>*EC - <3.7603>*RUNYULS - <0.0690482>*  

(rmmtgens-rmmtgens\1) + <0.508681>*emconyuls\1

EQUATION RWCONYULS

rwconyuls= exp(<0.461494> + <0.935965>* log(ahecns) + <0.156583>*  

 log(emconyuls/ec) - <0.0768845>* log(runyuls))

EQUATION EMTUNYULS

EMTUNYULS= <0.118896>*ER + <0.758064>*emtunyuls\1 - <1.58952>*  

RUNYULS

EQUATION RWWTNYULS

rwwtnyuls=  exp(<-6.04195> + <1.11404>* log(ahetwns) + <1.361>*  

 log(cpiunynj/cpi) - <0.090589>* log(runyuls))

EQUATION RWRTNYULS

rwrtnyuls=  exp(<-8.52186> + <1.04359>* log(ahetrns) + <1.89698>*  

 log(cpiunynj/cpi) - <0.0990062>* log(runyuls))

EQUATION EMRTNYULS

EMRTNYULS= <6.45385> + <0.182367>*ETR - <0.0365767>*cpiunynj/cpi  

 - <0.120222>*RMGBS3NS - <8.64903>*RUNYULS + <0.523565>*emrtnyuls\1  

 + <3.48977>*(yrpicnyuls-yrpicnyuls\1)

EQUATION EMGONYULS

EMGONYULS= <0.692587>*EG + <0.279701>*YRPICNYULS - <0.00737107>*  

cpiunynj/cpi - <0.559908>*RUNYULS

EQUATION RWGONYULS

RWGONYULS=   exp(<0.055464> + <0.708372>* LOG(RWGONYULS\1) +  

<0.332191>* LOG(RWSENYULS))

EQUATION RWSENYULS

RWSENYULS=   exp(<-5.56959> + <1.03469>* LOG(AHESVNS) + <1.36179>*  

 LOG(CPIUNYNJ/CPI) + <0.434497>* LOG(EMSENYULS/ESV))

EQUATION RWFINYULS

RWFINYULS=  exp(<0.304419> + <1.21885>* LOG(AHEFIRNS) + <0.788824>*  

 LOG(EMFINYULS/EFIR) - <0.0823643>* LOG(RUNYULS))

EQUATION EMTNNYULS

EMTNNYULS= EMCONYULS + EMMNNYULS + EMMINYULS + EMTUNYULS + EMWTNYULS  

+ EMRTNYULS + EMSENYULS + EMGONYULS + EMFINYULS

EQUATION WAGESNYULS

WAGESNYULS= EMCONYULS*RWCONYULS + EMMNNYULS*RWMNNYULS + EMMINYULS* 

RWMINYULS + EMTUNYULS*RWTUNYULS + EMWTNYULS*RWWTNYULS + EMRTNYULS* 

RWRTNYULS + EMSENYULS*RWSENYULS + EMGONYULS*RWGONYULS + EMFINYULS*RWFINYULS

EQUATION YWWSDNYULS

YWWSDNYULS= <0.0135218> + <0.000504762>*WAGESNYULS + <0.503533>*  

ywwsdnyuls\1

EQUATION YWPPTNYULS

ywpptnyuls=  exp(<-5.06819> + <0.27797>* log(ywpptnyuls\1)  

 + <0.783549>* log(yentnfadj) + <1.22274>* log(emtnnyuls/eea))

EQUATION YRPICNYULS

YRPICNYULS=YWPPTNYULS + YOTHNYULS + YWWSDNYULS

EQUATION EMWTNYULS

EMWTNYULS= <-1.32736> + <0.357113>*emwtnyuls\1 + <0.138212>*ETW  

 + <1.52839>*gdp87/gdp87\1 + <0.0103037>*EMMNNYULS

EQUATION EMFINYULS

EMFINYULS= <0.674402>*emfinyuls\1 + <45.4504>*yrpicnyuls/cpiunynj

EQUATION EMSENYULS

EMSENYULS= <2.8158> + <0.338603>*emsenyuls\1 + <0.11729>*ESV  

 + <213.53>*yrpicnyuls/popnyuls - <4.72131>*RUNYULS

EQUATION EMMNNYULS

EMMNNYULS= <0.790613>*emmnnyuls\1 + <10.9025>*  

yrpicnyuls/yrpicnyuls\1 - <0.0871108>*cpiunynj/cpi - <1.52031>*  

DUM75

EQUATION RUNYULS

RUNYULS= <0.202608> + <0.86563>*runyuls\1 + <0.00700014>*  

(ruc-ruc\1) - <0.19004>*emtnnyuls/emtnnyuls\1 - <0.0126087>*DUM87

EQUATION EBPRNYULS

EBPRNYULS= <1.03538> + <0.841128>*ebprnyuls\1 +<85.948>*  

yrpicnyuls/popnyuls

WESTCHESTER EQUATIONS

EQUATION EMMINYWEs

EMMINYWEs= <1.9897> + <0.690387>*emminywes\1 - <0.0173305>*  

cpiunynj/cpi

EQUATION RWMINYWEs

RWMINYWEs= 1.0386 * RWMINYWEs\1

EQUATION RWTUNYWEs

RWTUNYWEs= <1.15343> + <0.620871>*rwtunywes\1 + <0.120782>*cpiunynj\2

EQUATION RWFINYWEs

rwfinywes=  exp(<-5.26889> + <0.447364>* log(rwfinywes\1) + <0.85622>*  

 log(ahefirns) + <0.190373>*DUM87 + <1.10986>* log(cpiunynj/cpi)  

 - <0.17809>*DUM89)

EQUATION EMSENYWEs

EMSENYWEs= <-278.596> + <0.945575>*emsenywes\1 - <0.273757>*  

cpiunynj/cpi + <314.914>*popnywes\1/popnywes\2 + <4.82302>*DUM89

EQUATION RWSENYWEs

rwsenywes=  exp(<-1.07505> + <0.602133>* log(rwsenywes\1)  

 + <0.431004>* log(ahesvns) + <0.30336>* log(cpiunynj/cpi))

EQUATION RWGONYWEs

RWGONYWEs= <-0.478962> + <0.93262>*rwgonywes\1 + <0.0331717>*CPIUNYNJ

EQUATION RUNYWES

RUNYWES= <0.209512> + <0.788287>*runywes\1 + <0.0017654>*  

(ruc-ruc\1) + <0.00189948>*(ruc\1-ruc\2) - <0.200057>*  

emtnnyman/emtnnyman\1

EQUATION EMCONYWEs

EMCONYWEs= <64.9651> + <0.76124>*emconywes\1 - <0.433333>*RMMTGENS  

 - <0.499006>*cpiunynj/cpi - <90.9144>*RUNYWES + <2.65487>*DUM75

EQUATION RWCONYWEs

RWCONYWEs= <-5.87212> + <0.947595>*rwconywes\1 + <5.17347>*  

emconywes/emconywes\1 + <0.30463>*AHECNS

EQUATION EMTUNYWEs

EMTUNYWE= <15.4516> + <0.254304>*emtunywes\1 - <40.2688>*RUNYWES  

 - <1.37983>*DUM89 + <0.0770675>*TREND - <1.26021>*DUM83

EQUATION RWWTNYWEs

rwwtnywes=  exp(<-4.60573> + <0.405485>* log(rwwtnywes\1) + <0.78739>*  

 log(ahetwns) + <1.04792>* log(cpiunynj/cpi) - <0.0332751>*  

 log(runywes))

EQUATION EMGONYWEs

EMGONYWEs= <16.1025> + <0.488212>*emgonywes\1 - <20.4853>*RUNYWES  

 + <0.79078>*(egsl+egf)

EQUATION RWMNNYWEs

RWMNNYWEs= <-117.662> + <5.92623>*AHEMNS + <0.982398>*cpiunynj/cpi  

 + <2.73671>*DUM80

EQUATION EMMNNYWEs

EMMNNYWEs= <26.3466> + <0.600409>*emmnnywes\1 + <2.43952>*EM  

 - <0.32961>*cpiunynj/cpi - <3.51786>*rwmnnywes/ahemns

EQUATION YOTHNYWES

YOTHNYWES= <-6.64908> + <0.00910051>*YOTH + <1.39869>*popnywes/n  

 + <0.000568211>*EMTNNYMAn

EQUATION EMWTNYWEs

EMWTNYWEs= <-12.6888> + <0.355304>*emwtnywes\1 + <1.49861>*ETW  

 + <0.111084>*EMMNNYWEs + <0.218541>*EMRTNYWEs

EQUATION RWRTNYWEs

rwrtnywes=  exp(<-0.190515> + <0.987778>* log(rwrtnywes\1)  

 + <0.0439651>* log(aherns) + <0.133091>* log(emrtnywes/etr))

EQUATION EMRTNYWEs

EMRTNYWEs= <16.194> + <0.963011>*emrtnywes\1 - <5.03142>*  

rwrtnywes/ahetrns - <41.6962>*RUNYWES

EQUATION EMFINYWEs

EMFINYWEs= <6.33005> + <0.6709>*emfinywes\1 + <168.964>*  

yrpicnywes/popnywes - <40.9439>*RUNYWES

EQUATION YWWSDNYWes

YWWSDNYWes= <0.078139> + <0.000680704>*WAGESNYWES + <0.316204>*  

ywwsdnywes\1

EQUATION YWPPTNYWes

ywpptnywes=  exp(<-4.00273> + <0.350283>* log(ywpptnywes\1)  

 + <0.633675>* log(yentnfadj) + <0.538151>* log(emtnnywes/eea)  

 - <0.222854>*DUM89)

EQUATION EMTNNYWEs

EMTNNYWEs=EMMINYWEs+EMMNNYWEs+EMCONYWEs+EMTUNYWEs+  

 EMWTNYWEs+EMRTNYWEs+EMFINYWEs+EMSENYWEs+EMGONYWEs

EQUATION YRPICNYWes

YRPICNYWes=YWWSDNYWes+YWPPTNYWes+YOTHNYWES

EQUATION WAGESNYWES

WAGESNYWES=RWMINYWEs*EMMINYWEs+RWMNNYWEs*EMMNNYWEs+RWCONYWEs*

EMCONYWEs+RWTUNYWEs*EMTUNYWEs+RWWTNYWEs*EMWTNYWEs+RWRTNYWEs*EMRTNYWEs+ RWFINYWEs*EMFINYWEs+RWSENYWEs*EMSENYWEs+RWGONYWEs*EMGONYWEs

EQUATION EBPRNYWEs

EBPRNYWEs= <32.7702> + <0.434114>*ebprnywes\1 + <338.856>*  

yrpicnywes\1/popnywes\1 - <5.40618>*(dum86+dum87)

BERGEN EQUATIONS
EQUATION RWFINJBER

RWFINJBER= <-21.892> + <0.740971>*AHEFIRNS + <0.194097>*  

 cpiunynj/cpi + <0.787469>*rwfinjber\1

EQUATION RWMNNJBER

RWMNNJBER= <-88.7622> + <4.19653>*AHEMNS + <0.773441>*cpiunynj/cpi

EQUATION RWRTNJBER

RWRTNJBER= <-56.0062> + <0.482904>*cpiunynj/cpi + <3.68762>*AHETRNS

EQUATION RWWTNJBER

RWWTNJBER= <-91.4995> + <4.79159>*AHETWNS + <0.78537>*cpiunynj/cpi

EQUATION RWTUNJBER

RWTUNJBER= <-8.423> + <0.365236>*AHERNS + <0.0787666>*cpiunynj/cpi  

 + <0.92768>*rwtunjber\1

EQUATION YOTHNJBER

yothnjber= exp( <0.475576>* log(yoth) + <0.720114>* log(popnjber/n)  

 + <0.527666>* log(yothnjber\1))

EQUATION EMMNNJBER

EMMNNJBER= <55.7423> + <3.42485>*EM + <0.367778>*emmnnjber\1  

 - <1998.15>*(rwmnnjber/cpiunynj)/(ahemns/cpi)

EQUATION EMWTNJBER

EMWTNJBER= <9.53232> - <367.667>*(rwwtnjber/cpiunynj)/(ahetwns/cpi)  

 + <1.0694>*emwtnjber\1 + <5.87639>*(etw-etw\1) - <3.98864>*DUM90

EQUATION RWGONJBER

RWGONJBER= <-4.23969> + <0.209488>*RWMNNJBER + <0.800618>*  

 rwgonjber\1 + <0.0381878>*cpiunynj/cpi

EQUATION EMGONJBER

EMGONJBER= <0.634453>*emgonjber\1 - <0.160613>*RWGONJBER  

 + <1.41009>*EGSL - <2.12905>*DUM79

EQUATION EMCONJBER

EMCONJBER= <12.4195> + <0.530077>*emconjber\1 - <92.3686>*RUNJBER

EQUATION EMFINJBER

EMFINJBER= <0.391539> + <0.537423>*emfinjber\1 + <2.18152>*EFIR  

 - <9.27004>*rwfinjber/cpiunynj - <29.7304>*RUNJBER

EQUATION EMRTNJBER

EMRTNJBER= <6.18327> + <0.884666>*emrtnjber\1 + <0.291818>*  

 ((yrpicnjber/popnjber)/(yrpicnjber\1/popnjber\1)-1)*100

EQUATION EMSENJBER

EMSENJBER= <0.961568>*emsenjber\1 + <0.127303>*  

 ((yrpicnjber/popnjber)/(yrpicnjber\1/popnjber\1)-1)*100  

 + <6.18752>*(esv-esv\1)

EQUATION EMTUNJBER

EMTUNJBER= <26.3079> - <3.68282>*rwtunjber/aherns + <0.227174>*  

 yrpicnjber/popnjber + <2.48517>*(er-er\1)

EQUATION EMTNNJBER

emtnnjber=emminjber + emmnnjber + emconjber + emtunjber +  

 emwtnjber + emrtnjber + emfinjber + emsenjber + emgonjber

EQUATION RWCONJBER

RWCONJBER= <-3.84041> + <0.471959>*AHECNS + <0.809163>*emconjber/ec  

 + <0.886518>*rwconjber\1

EQUATION RWSENJBER

RWSENJBER= <-12.0299> + <0.565155>*AHESVNS + <2.55826>*  

 emsenjber/esv + <0.934444>*rwsenjber\1

EQUATION WAGESNJBER

WAGESNJBER=EMCONJBER*RWCONJBER+EMFINJBER*RWFINJBER+EMGONJBER*RWGONJBER +EMMNNJBER*RWMNNJBER+EMRTNJBER*RWRTNJBER+EMSENJBER*RWSENJBER +  

EMTUNJBER*RWTUNJBER+EMWTNJBER*RWWTNJBER

EQUATION YWWSDNJBER

YWWSDNJBER= <79.3553> + <0.939594>*WAGESNJBER

EQUATION YWPPTNJBER

ywpptnjber= exp( <-0.776677> + <0.686739>* log(ywpptnjber\1)  

 + <0.441362>* log(yentnfadj) + <0.480946>* log(emtnnjber/eea) )

EQUATION YRPICNJBER

YRPICNJBER= YWWSDNJBER + YWPPTNJBER + YOTHNJBER

EQUATION RUNJBER

RUNJBER= <0.00583895>*RUC - <0.00309439>*emtnnjber/eea + <0.53143>*  

 RUNJBER\1

EQUATION EBPRNJBER

EBPRNJBER= <51.2627> - <0.24813>*cpiunynj/cpi + <0.799931>*  

 yrpicnjber/popnjber + <34.698>*runjber\1 + <0.344552>*ebprnjber\1

ESSEX EQUATIONS
EQUATION RWCONJESS

rwconjess=  exp(<0.12527>* log(ahecns) + <0.0312831>*  

 log(cpiunynj/cpi) + <0.878184>* log(rwconjess\1))

EQUATION RWWTNJESS

rwwtnjess=  exp(<-3.85642> + <0.672181>* log(ahetwns) + <0.936343>*  

 log(cpiunynj/cpi) + <0.430891>* log(rwwtnjess\1))

EQUATION RWRTNJESS

rwrtnjess=  exp(<0.104219>* log(ahetrns) + <0.0250989>*  

 log(cpiunynj/cpi) + <0.904345>* log(rwrtnjess\1))

EQUATION RWSENJESS

rwsenjess=  exp(<0.328946>* log(ahesvns) + <0.0612039>*  

 log(cpiunynj/cpi) + <0.702979>* log(rwsenjess\1))

EQUATION RWFINJESS

rwfinjess=  exp(<-3.09036> + <0.334657>* log(ahefirns) + <0.716815>*  

 log(cpiunynj/cpi) + <0.718032>* log(rwfinjess\1))

EQUATION YOTHNJESS

yothnjess=  exp(<-3.86017> + <0.291661>* log(yothnjess\1)  

 + <0.686996>* log(yoth))

EQUATION RWTUNJESS

rwtunjess= exp( <-2.36219> + <1.04413>* log(aherns) + <0.719898>*  

 log(cpiunynj/cpi))

EQUATION EMSENJESS

emsenjess= exp( <0.993197> + <0.654555>* log(emsenjess\1)  

 + <0.196806>* log(esv))

EQUATION EMMNNJESS

EMMNNJESS= <2.37728>*EM - <18.8931>*rwmnnjess/ahemns + <12817.6>*  

yrpicnjess/yp + <0.407321>*emmnnjess\1

EQUATION RWMNNJESS

rwmnnjess=  exp(<0.145534>* log(ahemns) + <0.0675707>*  

 log(cpiunynj/cpi) + <0.0337929>* log(runjess/ruc) + <0.87269>*  

 log(rwmnnjess\1))

EQUATION EMRTNJESS

EMRTNJESS= <-51.3079> + <0.853965>*emrtnjess\1 - <0.34549>*  

(rmgbs3ns-rmgbs3ns\1) - <33.2801>*(runjess-runjess\1) + <52.8483>*  

((emtnnyman+emtnnjber)/(emtnnyman\1+emtnnjber\1)) + <1290.97>*  

yrpicnjess/yp

EQUATION EMXFINJESS

EMXFINJESS=EMMINJESS + EMMNNJESS + EMCONJESS + EMTUNJESS + EMSENJESS  

 + EMGONJESS + EMWTNJESS + EMRTNJESS

EQUATION EMTNNJESS

EMTNNJESS= EMMINJESS + EMMNNJESS + EMCONJESS + EMTUNJESS + EMSENJESS  

 + EMGONJESS + EMWTNJESS + EMRTNJESS + EMFINJESS

EQUATION WAGESNJESS

WAGESNJESS= EMMINJESS*RWMINJESS + EMMNNJESS*RWMNNJESS + EMCONJESS* 

RWCONJESS + EMTUNJESS*RWTUNJESS + EMFINJESS*RWFINJESS + EMRTNJESS* 

RWRTNJESS + EMSENJESS*RWSENJESS + EMGONJESS*RWGONJESS + EMWTNJESS* 

RWWTNJESS

EQUATION EMFINJESS

EMFINJESS= <3.99119>*emxfinjess/emxfinjess\1 - <18.8568>*RUNJESS  

 + <0.903256>*emfinjess\1 + <0.158241>*(rmmtgens-rmgbs3ns)

EQUATION EMWTNJESS

EMWTNJESS= <-17.4891> + <4.8958>*ETW - <5.5252>*rwwtnjess/ahetwns  

 + <4849.66>*yrpicnjess/yp + <0.283065>*emwtnjess\1 + <0.122227>*  

EMRTNJESS

EQUATION YWWSDNJESS

YWWSDNJESS= <-0.0320896> + <0.000356811>*WAGESNJESS + <0.67649>*  

ywwsdnjess\1

EQUATION YWPPTNJESS

ywpptnjess=  exp(<-5.48551> + <0.240281>* log(ywpptnjess\1)  

 + <0.748591>* log(yentnfadj) + <0.863098>* log(emtnnjess/eea))

EQUATION YRPICNJESS

YRPICNJESS=YWWSDNJESS + YWPPTNJESS + YOTHNJESS

EQUATION EMGONJESS

EMGONJESS= <19.9442> + <0.186636>*emgonjess\1 + <17.8311>*DUM8089  

 + <0.0138052>*POPNJESS + <1051.6>*runjess/ruc

EQUATION RWGONJESS

rwgonjess=  exp(<0.072503>* log(ahesvns) - <0.0342147>*  

 log(runjess/ruc) + <0.923828>* log(rwgonjess\1))

EQUATION EMCONJESS

EMCONJESS= <0.336708>*emconjess\1 + <0.0151583>*popnjess\1  

 - <54.7176>*RUNJESS - <0.0898531>*RMMTGENS

EQUATION RUNJESS

RUNJESS= <0.216182> + <0.901581>*runjess\1 - <0.137804>*  

emtnnjess/emtnnjess\1 + <0.055431>*ruc/ruc\1 - <0.127704>*  

emtnnyman/emtnnyman\1

EQUATION EMTUNJESS

EMTUNJESS= <22.6611> + <0.384044>*emtunjess\1 - <0.931432>*  

runjess/runjess\1 - <1.82175>*DUM7782 + <3.11885>*DUM84

EQUATION EBPRNJESS

EBPRNJESS= <0.97693>*ebprnjess\1 + <2456.25>*  

((yrpicnjess/popnjess)-(yrpicnjess\1/popnjess\1)) - <0.130682>*  

RMGBS3NS

HUDSON EQUATIONS
EQUATION RWMNNJHUD

rwmnnjhud=  exp(<-2.70975> + <0.497662>* log(ahemns) + <0.664379>*  

 log(cpiunynj/cpi) + <0.551787>* log(rwmnnjhud\1))

EQUATION RWTUNJHUD

rwtunjhud=  exp(<-3.6195> + <0.969385>* log(aherns) + <0.986545>*  

 log(cpiunynj/cpi))

EQUATION RWWTNJHUD

rwwtnjhud=  exp(<-7.20516> + <1.1725>* log(ahetwns) + <1.70986>*  

 log(cpiunynj/cpi))

EQUATION RWGONJHUD

rwgonjhud=  exp(<-1.33863> + <0.573304>* log(ahesvns) + <0.365078>*  

 log(cpiunynj/cpi) + <0.523033>* log(rwgonjhud\1))

EQUATION RUNJHUD

RUNJHUD= <0.810751>*runjhud\1 + <0.0111505>*(ruc-ruc\1)  

 + <0.00701361>*(ruc\1-ruc\2) + <0.000175513>*cpiunynj/cpi

EQUATION YOTHNJHUD

yothnjhud=  exp(<-3.36759> + <0.459238>* log(yothnjhud\1)  

 + <0.549916>* log(yoth))

EQUATION EMTUNJHUD

EMTUNJHUD= <35.0463> + <0.664329>*emtunjhud\1 + <4.41967>*(er-er\1)  

 - <306.814>*runjhud/ruc - <6.77017>*rwtunjhud/aherns - <0.470031>*  

RMMBCAAANS

EQUATION EMMNNJHUD

EMMNNJHUD= <13.8005> + <0.922499>*EMMNNJHUD\1 + <2.48405>*(EM-EM\1)  

 - <4.38099>*RWMNNJHUD/AHEMNS

EQUATION RWCONJHUD

rwconjhud=  exp(<-6.63439> + <1.18286>* log(ahecns) + <1.10183>*  

 log(cpiunynj/cpi) - <0.444419>* log(runjhud/ruc))

EQUATION EMWTNJHUD

EMWTNJHUD= <2.77141> + <1.91975>*ETW - <331.393>*runjhud/ruc  

 - <0.111648>*RMGBS3NS + <0.641912>*emwtnjhud\1

EQUATION RWRTNJHUD

rwrtnjhud=  exp(<-12.3486> + <1.22419>* log(ahetrns) + <2.66003>*  

 log(cpiunynj/cpi) - <0.116779>* log(runjhud/ruc))

EQUATION EMRTNJHUD

EMRTNJHUD= <-42.0863> + <5674.71>*yrpicnjhud/yp + <33.3082>*  

emtnnyma/emtnnyma\1 + <0.607791>*ETR + <0.587783>*emrtnjhud\1  

 - <124.815>*runjhud/ruc

EQUATION RWFINJHUD

rwfinjhud=  exp(<0.623599>* log(ahefirns) + <0.379019>*  

 log(emfinjhud/efir) + <0.495815>* log(rwfinjhud\1))

EQUATION EMSENJHUD

EMSENJHUD= <-13.8893> + <0.904663>*emsenjhud\1 + <2797.13>*  

((yrpicnjhud/popnjhud)-(yrpicnjhud\1/popnjhud\1)) + <19.5893>*  

emtnnyma/emtnnyma\1 - <205.184>*runjhud/ruc - <0.09645>*RMGBS3NS

EQUATION RWSENJHUD

rwsenjhud=  exp(<-7.26084> + <1.2991>* log(ahesvns) + <0.521951>*  

 log(emsenjhud/esv) + <1.55529>* log(cpiunynj/cpi))

EQUATION EMGONJHUD

EMGONJHUD= <-23.1618> + <0.793744>*emgonjhud\1 + <29.5029>*  

(yrpicnjhud/popnjhud)/(yrpicnjhud\1/popnjhud\1) + <26.5192>*  

(runjhud-runjhud\1)

EQUATION YWWSDNJHUD

YWWSDNJHUD= <-0.0826228> + <0.000833264>*WAGESNJHUD + <0.162689>*  

ywwsdnjhud\1

EQUATION EMXCONJHUD

EMXCONJHUD=EMMNNJHUD + EMWTNJHUD + EMRTNJHUD + EMGONJHUD + EMFINJHUD  

+ EMTUNJHUD + EMSENJHUD

EQUATION WAGESNJHUD

WAGESNJHUD= EMMINJHUD*RWMINJHUD + EMCONJHUD*RWCONJHUD + EMMNNJHUD* 

RWMNNJHUD + EMWTNJHUD*RWWTNJHUD + EMRTNJHUD*RWRTNJHUD + EMFINJHUD* 

RWFINJHUD + EMSENJHUD*RWSENJHUD + EMGONJHUD*RWGONJHUD + EMTUNJHUD* 

RWTUNJHUD

EQUATION YRPICNJHUD

YRPICNJHUD= YWWSDNJHUD + YWPPTNJHUD + YOTHNJHUD

EQUATION EMCONJHUD

EMCONJHUD= <-6.57056> + <0.637564>*EMCONJHUD\1 + <0.928855>*EC  

 - <0.122877>*CPIUNYNJ/CPI + <2074.05>*YRPICNJHUD/YP - <0.07827>*  

((RMMTGENS-RMMTGENS\1)) + <12.1467>*EMXCONJHUD/EMXCONJHUD\1

EQUATION EMFINJHUD

EMFINJHUD= <-25.4202> + <0.949569>*emfinjhud\1 + <1.20531>*EFIR  

 + <0.035143>*((yrpicnjhud/popnjhud)-(yrpicnjhud\1-popnjhud\1))

EQUATION EBPRNJHUD

EBPRNJHUD= <4.80305> + <0.670936>*ebprnjhud\1 - <0.0640718>*  

RMGBS3NS + <260.148>*yrpicnjhud/popnjhud

EQUATION YWPPTNJHUD

YWPPTNJHUD= <-0.135704> + <0.482268>*ywpptnjhud\1 + <0.000610823>*  

YENTNFADJ + <0.00858774>*EBPRNJHUD

EQUATION EMTNNJHUD

EMTNNJHUD=EMMINJHUD + EMCONJHUD + EMMNNJHUD + EMWTNJHUD + EMRTNJHUD  

+ EMTUNJHUD + EMFINJHUD + EMSENJHUD + EMGONJHUD

HUNTERDON EQUATIONS
EQUATION RWSENJHUN

rwsenjhun=   exp(<-7.92924> + <0.839187>* log(ahesvns) + <1.77962>*  

 log(cpiunynj/cpi) + <0.312215>* log(rwsenjhun\1))

EQUATION RWGONJHUN

RWGONJHUN=   exp(<0.992119>* LOG(RWGONJHUN\1) + <0.0211258>*  

 LOG(CPIUNYNJ/CPI))

EQUATION YOTHNJHUN

YOTHNJHUN=   exp(<-2.20712> + <0.6848>* LOG(YOTHNJHUN\1) + <0.32882>*  

 LOG(YOTH))

EQUATION RWCONJHUN

RWCONJHUN=   exp(<0.208379>* LOG(AHECNS) + <0.0239062>*  

 LOG(CPIUNYNJ/CPI) + <0.827253>* LOG(RWCONJHUN\1))

EQUATION EMMNNJHUN

EMMNNJHUN= <14.4143> + <0.157884>*EM - <275.981>*runjhun/ruc  

 - <0.0870665>*cpiunynj/cpi - <0.137232>*RMGBS3NS + <59.1517>*  

yrpicnjhun/popnjhun

EQUATION RWMNNJHUN

rwmnnjhun=   exp(<-8.10335> + <1.24847>* log(ahemns) + <1.89919>*  

 log(cpiunynj/cpi) + <0.166251>* log(emmnnjhun/em))

EQUATION EMRTNJHUN

EMRTNJHUN= <0.502974> + <0.887767>*emrtnjhun\1 + <256.577>*  

(yrpicnjhun/popnjhun-yrpicnjhun\1/popnjhun\1) - <11.9824>*  

(runjhun-runjhun\1) - <0.0511792>*(rmgbs3ns-rmgbs3ns\1)

EQUATION RWRTNJHUN

rwrtnjhun=   exp(<-2.46769> + <0.253287>* log(ahetrns) + <0.506956>*  

 log(cpiunynj/cpi) - <0.0674841>* log(runjhun/ruc) + <0.758516>*  

 log(rwrtnjhun\1))

EQUATION RWWTNJHUN

rwwtnjhun=   exp(<-7.66688> + <0.74913>* log(ahetwns) + <1.60125>*  

 log(cpiunynj/cpi) - <0.0731223>* log(runjhun/ruc) + <0.465712>*  

 log(rwwtnjhun\1))

EQUATION EMSENJHUN

EMSENJHUN= <1.65514> + <2.35273>*YRPICNJHUN - <0.0265385>*RMGBS3NS

EQUATION EMTXFHUN

EMTXFHUN= EMMINJHUN + EMMNNJHUN + EMCONJHUN + EMSENJHUN +  

EMTUNJHUN + EMWTNJHUN + EMRTNJHUN + EMGONJHUN

EQUATION EMTUNJHUN

EMTUNJHUN= <0.535457>*EMTUNJHUN\1 - <0.251401>*RWTUNJHUN/AHERNS  

 + <6375.57>*YRPICNJHUN/YP

EQUATION EMTNNJHUN

EMTNNJHUN= EMMINJHUN + EMMNNJHUN + EMCONJHUN + EMWTNJHUN + EMRTNJHUN  

+ EMFINJHUN + EMGONJHUN + EMSENJHUN + EMTUNJHUN

EQUATION WAGESNJHUN

WAGESNJHUN= EMMINJHUN*RWMINJHUN + EMCONJHUN*RWCONJHUN + EMMNNJHUN* 

RWMNNJHUN + EMWTNJHUN*RWWTNJHUN + EMRTNJHUN*RWRTNJHUN + EMTUNJHUN* 

RWTUNJHUN + EMFINJHUN*RWFINJHUN + EMSENJHUN*RWSENJHUN + EMGONJHUN* 

RWGONJHUN

EQUATION RUNJHUN

RUNJHUN= <0.903259>*RUNJHUN\1 + <0.0074774>*(RUC-RUC\1)  

 + <0.000637847>*CPIUNYNJ/CPI - <0.0580136>*  

(YRPICNJHUN/POPNJHUN)/(YRPICNJHUN\1/POPNJHUN\1) + <0.00119869>*  

(RUC\1-RUC\2)

EQUATION YWWSDNJHUN

YWWSDNJHUN= <-0.0163717> + <0.00031565>*WAGESNJHUN + <0.703078>*  

YWWSDNJHUN\1

EQUATION EMCONJHUN

EMCONJHUN= <0.395154>*EMCONJHUN\1 - <108.72>*RUNJHUN/RUC  

 - <0.0280074>*RMMTGENS + <0.319148>*EC + <438.021>*  

(YRPICNJHUN/POPNJHUN)/(YP/N)

EQUATION RWFINJHUN

RWFINJHUN=   exp(<-26.2361> + <1.07615>* LOG(AHEFIRNS) + <5.79429>*  

 LOG(CPIUNYNJ/CPI) + <0.453069>* LOG(EMFINJHUN/EFIR))

EQUATION RWTUNJHUN

rwtunjhun=  exp(<-13.7994> + <0.740031>* log(aherns) + <0.176103>*  

 log(dumrwtuhun) + <3.16577>* log(cpiunynj/cpi) - <0.119072>*  

 log(runjhun/ruc))

EQUATION YRPICNJHUN

YRPICNJHUN=YOTHNJHUN + YWWSDNJHUN + YWPPTNJHUN

EQUATION EMWTNJHUN

EMWTNJHUN= <0.433472>*emwtnjhun\1 + <0.125489>*EMRTNJHUN  

 - <0.215269>*(dum72+dum73)

EQUATION YWPPTNJHUN

ywpptnjhun= exp( <-3.73317> + <0.429963>* log(ywpptnjhun\1)  

 + <0.282224>* log(yentnfadj) + <0.49212>* log(ebprnjhun))

EQUATION EBPRNJHUN

EBPRNJHUN= <-0.457703> + <0.924643>*ebprnjhun\1 + <0.046131>*  

EMTNNJHUN

EQUATION EMFINJHUN

EMFINJHUN= <50.8191>*yrpicnjhun/popnjhun + <0.017687>*EMTXFHUN  

 - <0.354048>*(dum80+dum81+dum82)

EQUATION EMGONJHUN

EMGONJHUN= <3.12585> + <0.259273>*emgonjhun\1 + <0.935225>*DUM8089  

 + <28.0155>*yrpicnjhun/popnjhun

MERCER EQUATIONS
EQUATION RWMNNJMER

rwmnnjmer=   exp(<0.0803241>* log(ahemns) + <0.0327578>*  

 log(cpiunynj/cpi) + <0.924542>* log(rwmnnjmer\1))

EQUATION RWWTNJMER

rwwtnjmer=   exp(<-4.21962> + <0.733697>* log(ahetwns) + <0.98629>*  

 log(cpiunynj/cpi) + <0.424081>* log(rwwtnjmer\1))

EQUATION YOTHNJMER

yothnjmer=   exp(<-4.55856> + <0.697274>* log(yoth) + <0.230897>*  

 log(yothnjmer\1))

EQUATION EMWTNJMER

EMWTNJMER= <-1.52028> + <1.50745>*ETW - <0.0879375>*RMGBS3NS

EQUATION RWCONJMER

rwconjmer=   exp(<-11.6071> + <1.33127>* log(ahecns) + <0.359355>*  

 log(emconjmer/ec) + <2.50462>* log(cpiunynj/cpi))

EQUATION EMCONJMER

EMCONJMER= <2.10835> + <0.554819>*EC - <191.124>*runjmer/ruc  

 - <0.0535967>*RMMTGENS + <0.29221>*emconjmer\1 + <206.186>*  

((yrpicnjmer/popnjmer)-(yrpicnjmer\1/popnjmer\1))

EQUATION EMMNNJMER

EMMNNJMER= <1.01697>*EM - <4.48786>*rwmnnjmer/ahemns + <17.2126>*  

yrpicnjmer/yrpicnjmer\1 - <0.461746>*RMGBS3NS + <0.393679>*  

emmnnjmer\1

EQUATION RWTUNJMER

rwtunjmer=   exp(<-2.75016> + <1.05453>* log(aherns) + <0.759852>*  

 log(cpiunynj/cpi) + <0.0931092>* log(emtunjmer/er))

EQUATION EMRTNJMER

EMRTNJMER= <2.44692> + <1.62683>*((yrpicnjmer-yrpicnjmer\1))  

 - <33.666>*((runjmer-runjmer\1)) + <0.866631>*emrtnjmer\1

EQUATION RWRTNJMER

rwrtnjmer=   exp(<-3.15508> + <0.353056>* log(ahetrns) + <0.647641>*  

 log(cpiunynj/cpi) - <0.0736156>* log(runjmer/ruc) + <0.693972>*  

 log(rwrtnjmer\1))

EQUATION EMFINJMER

EMFINJMER= <1.20648> + <0.928347>*emfinjmer\1 + <239.558>*  

((yrpicnjmer/popnjmer)-(yrpicnjmer\1/popnjmer\1)) - <12.069>*  

RUNJMER

EQUATION RWFINJMER

rwfinjmer=   exp(<0.213582>* log(ahefirns) - <0.0424422>* log(runjmer)  

 + <0.817347>* log(rwfinjmer\1))

EQUATION RWSENJMER

rwsenjmer=   exp(<-9.48371> + <1.16224>* log(ahesvns) + <2.11429>*  

 log(cpiunynj/cpi) - <0.0622812>* log(runjmer/ruc))

EQUATION EMGONJMER

EMGONJMER= <4.96387> + <0.913384>*emgonjmer\1 + <0.158399>*  

(popnjmer-popnjmer\1) - <36.8883>*(runjmer-runjmer\1)

EQUATION RWGONJMER

rwgonjmer=   exp(<0.710628>* log(rwgonjmer\1) + <0.0237343>*  

 log(cpiunynj/cpi) + <0.286504>* log(rwsenjmer))

EQUATION YWWSDNJMER

YWWSDNJMER= <0.0530657> + <0.000841147>*WAGESNJMER + <0.0885654>*  

ywwsdnjmer\1

EQUATION RUNJMER

RUNJMER= <0.175533> - <0.161629>*emtnnjmer/emtnnjmer\1  

 + <0.799216>*runjmer\1 + <0.00557728>*(ruc-ruc\1)

EQUATION EMTNNJMER

EMTNNJMER=EMMINJMER + EMMNNJMER + EMCONJMER + EMTUNJMER + EMWTNJMER +  

EMRTNJMER + EMFINJMER + EMSENJMER + EMGONJMER

EQUATION WAGESNJMER

WAGESNJMER= EMMINJMER*RWMINJMER + EMMNNJMER*RWMNNJMER + EMCONJMER* 

RWCONJMER + EMTUNJMER*RWTUNJMER + EMWTNJMER*RWWTNJMER + EMRTNJMER*  

RWRTNJMER + EMFINJMER*RWFINJMER + EMSENJMER*RWSENJMER + EMGONJMER*  

RWGONJMER

EQUATION YRPICNJMER

YRPICNJMER= YWWSDNJMER + YWPPTNJMER + YOTHNJMER

EQUATION EMTUNJMER

EMTUNJMER= <1.96218> + <0.0840758>*YRPICNJMER - <7.73493>*RUNJMER  

 + <0.680616>*emtunjmer\1

EQUATION EMSENJMER

EMSENJMER= <1.30084> + <0.972914>*emsenjmer\1 + <1285.54>*  

((yrpicnjmer/popnjmer)-(yrpicnjmer\1/popnjmer\1)) - <20.4385>*  

(runjmer-runjmer\1)

EQUATION YWPPTNJMER

YWPPTNJMER= <-0.110883> + <0.0105917>*EBPRNJMER + <0.000267289>*  

YENTNFADJ + <0.590668>*ywpptnjmer\1

EQUATION EBPRNJMER

EBPRNJMER= <-5.5908> + <0.814032>*ebprnjmer\1 + <0.0602343>*  

EMTNNJMER - <0.112653>*RMGBS3NS

MIDDLESEX EQUATIONS
EQUATION RWMNNJMID

RWMNNJMID=  exp(<0.1354>* LOG(AHEMNS) + <0.0434519>*  

 LOG(CPIUNYNJ/CPI) + <0.871476>* LOG(RWMNNJMID\1))

EQUATION RWGONJMID

rwgonjmid= exp( <0.0233466>* log(cpiunynj/cpi) + <0.0988811>*  

 log(ahesvns) + <0.920322>* log(rwgonjmid\1))

EQUATION YOTHNJMID

yothnjmid=   exp(<-2.1317> + <0.39294>* log(yoth) + <0.472246>*  

 log(yothnjmid\1))

EQUATION RWTUNJMID

rwtunjmid=  exp(<1.14381>* log(aherns) + <0.159194>*  

 log(cpiunynj/cpi))

EQUATION EMTUNJMID

EMTUNJMID= <19.6073> + <3.58215>*ER - <0.21669>*CPIUNYNJ/CPI  

 - <254.249>*RUNJMID/RUC + <0.407019>*EMTUNJMID\1

EQUATION RWCONJMID

RWCONJMID=  exp(<-14.3607> + <1.24858>* LOG(AHECNS) + <2.97089>*  

 LOG(CPIUNYNJ/CPI) - <0.171241>* LOG(RUNJMID/RUC))

EQUATION EMMNNJMID

EMMNNJMID= <4.03661>*EM - <12.4368>*RWMNNJMID/AHEMNS - <384.875>*  

RUNJMID/RUC + <12741.7>*YRPICNJMID/YP + <0.098306>*EMMNNJMID\1

EQUATION RWWTNJMID

RWWTNJMID=  exp(<-9.36304> + <1.27146>* LOG(AHETWNS) + <2.03962>*  

 LOG(CPIUNYNJ/CPI) - <0.105012>* LOG(RUNJMID/RUC))

EQUATION RWFINJMID

RWFINJMID= exp( <-8.8194> + <1.44977>* LOG(AHEFIRNS) + <0.258142>*  

 LOG(RUNJMID/RUC) + <2.1352>* LOG(CPIUNYNJ/CPI))

EQUATION EMSENJMID

EMSENJMID= <0.650144> + <0.995195>*emsenjmid\1 + <2460.02>*  

((yrpicnjmid/popnjmid)-(yrpicnjmid\1/popnjmid\1)) - <70.4432>*  

(runjmid-runjmid\1) - <0.322043>*(rmgbs3ns-rmgbs3ns\1)

EQUATION RWSENJMID

rwsenjmid=  exp(<0.123608>* log(ahesvns) - <0.0367903>*  

 log(runjmid/ruc) + <0.875563>* log(rwsenjmid\1))

EQUATION EMGONJMID

EMGONJMID= <0.549619>*EG + <147.837>*runjmid/ruc + <1.7825>*  

emtnnjmid\1/eea\1 + <0.661705>*emgonjmid\1

EQUATION EMTNNJMID

EMTNNJMID= EMMINJMID + EMMNNJMID + EMCONJMID + EMTUNJMID + EMFINJMID  

+ EMWTNJMID + EMRTNJMID + EMSENJMID + EMGONJMID

EQUATION WAGESNJMID

WAGESNJMID= EMMINJMID*RWMINJMID + EMMNNJMID*RWMNNJMID + EMCONJMID* 

RWCONJMID + EMTUNJMID*RWTUNJMID + EMFINJMID*RWFINJMID + EMGONJMID* 

RWGONJMID + EMSENJMID*RWSENJMID + EMWTNJMID*RWWTNJMID + EMRTNJMID* 

RWRTNJMID

EQUATION YWWSDNJMID

YWWSDNJMID= <-0.0915986> + <0.00067116>*WAGESNJMID + <0.3338>*  

ywwsdnjmid\1

EQUATION YRPICNJMID

YRPICNJMID=YWWSDNJMID + YOTHNJMID + YWPPTNJMID

EQUATION RWRTNJMID

rwrtnjmid=   exp(<-5.46472> + <0.534002>* log(ahetrns) - <0.0395248>*  

 log(runjmid/ruc) + <1.18438>* log(cpiunynj/cpi) + <0.564709>*  

 log(rwrtnjmid\1))

EQUATION EMFINJMID

EMFINJMID= <2.57744>*(YRPICNJMID-YRPICNJMID\1) + <0.220911>*  

(RMMTGENS-RMGBS3NS) - <6.01117>*RUNJMID + <0.918024>*EMFINJMID\1

EQUATION EBPRNJMID

EBPRNJMID= <-5.08663> + <0.938434>*ebprnjmid\1 + <0.0276782>*  

EMTNNJMID

EQUATION EMWTNJMID

EMWTNJMID= <-11.7406> + <0.635206>*emwtnjmid\1 + <2.83063>*ETW  

 + <0.14538>*EMRTNJMID

EQUATION EMRTNJMID

EMRTNJMID= <-54.6448> + <0.984797>*emrtnjmid\1 - <0.570064>*  

(rmgbs3ns-rmgbs3ns\1) - <98.3433>*(runjmid-runjmid\1) + <51.9381>*  

yrpicnjmid/yrpicnjmid\1

EQUATION RUNJMID

RUNJMID= <0.157567> + <0.4724>*runjmid\1 - <0.162974>*  

emtnnjmid/emtnnjmid\1 + <0.72428>*RUNJMER

EQUATION EMCONJMID

EMCONJMID= <-34.7833> + <0.853567>*emconjmid\1 + <38.6917>*  

popnjmid\1/popnjmid\2 - <2.42332>*runjmid/runjmid\1 - <0.99606>*  

(dum91+dum92)

EQUATION YWPPTNJMID

ywpptnjmid= exp( <-5.11451> + <0.323903>* log(ywpptnjmid\1)  

 + <0.616823>* log(yentnfadj) + <0.556293>* log(emtnnjmid/eea)  

 + <0.173452>* log(ebprnjmid))

MONMOUTH EQUATIONS
EQUATION RWWTNJMON

rwwtnjmon= exp( <0.0507397> + <0.925742>* log(rwwtnjmon\1)  

 + <0.119543>* log(ahetwns))

EQUATION YOTHNJMON

yothnjmon= exp( <-6.36734> + <0.225323>* log(yothnjmon\1)  

 + <0.751892>* log(yoth) + <0.306839>* log(emtnnyma))

EQUATION RWMNNJMON

rwmnnjmon= exp( <-2.5729> + <0.730632>* log(rwmnnjmon\1)  

 + <0.343471>* log(ahemns) + <0.58664>* log(cpiunynj/cpi))

EQUATION RWSENJMON

rwsenjmon= exp( <0.166785> + <0.849588>* log(rwsenjmon\1)  

 + <0.167181>* log(ahesvns))

EQUATION RWGONJMON

rwgonjmon= exp( <-3.10348> + <0.239097>* log(rwgonjmon\1)  

 + <0.88155>* log(ahesvns) + <0.799641>* log(cpiunynj/cpi))

EQUATION RWFINJMON

rwfinjmon= exp( <-0.0269923> + <0.889997>* log(rwfinjmon\1)  

 + <0.179099>* log(ahefirns))

EQUATION EMGONJMON

EMGONJMON= <-14.9283> + <2.75573>*EG + <6.71484>*  

rwgonjmon/rwgonjmon\1

EQUATION RWCONJMON

rwconjmon= exp( <-5.98269> + <0.566541>* log(rwconjmon\1)  

 + <0.589539>* log(ahecns) + <1.22472>* log(cpiunynj/cpi)  

 - <0.0992983>* log(runjmon))

EQUATION EMMNNJMON

EMMNNJMON= <22.9949> + <0.166981>*emmnnjmon\1 + <1.08198>*EM  

 - <10.5342>*rwmnnjmon/ahemns - <220.306>*runjmon/ruc + <227.876>*  

yrpicnjmon/popnjmon

EQUATION EMTUNJMON

EMTUNJMON= <3.45963> + <0.749063>*emtunjmon\1 + <660.73>*  

((yrpicnjmon/popnjmon)-(yrpicnjmon\1/popnjmon\1)) - <222.93>*  

runjmon/ruc

EQUATION RWTUNJMON

rwtunjmon= exp( <-1.97528> + <0.162763>* log(rwtunjmon\1)  

 + <0.897278>* log(aherns) + <0.353675>* log(emtunjmon/er)  

 + <0.525055>* log(cpiunynj/cpi))

EQUATION EMWTNJMON

EMWTNJMON= <-12.1791> + <0.103411>*EMRTNJMON + <0.425669>*  

emwtnjmon\1 + <4354.55>*yrpicnjmon/yp

EQUATION EMRTNJMON

EMRTNJMON= <-17.2127> + <0.972734>*emrtnjmon\1 + <17.6504>*  

(yrpicnjmon/popnjmon)/(yrpicnjmon\1/popnjmon\1)

EQUATION RWRTNJMON

rwrtnjmon= exp( <-4.83888> + <0.623139>* log(rwrtnjmon\1)  

 + <0.434508>* log(ahetrns) + <1.0386>* log(cpiunynj/cpi)  

 - <0.0490166>* log(runjmon/ruc))

EQUATION EMSENJMON

EMSENJMON= <10.3671> + <1.02198>*ESV + <1056.94>*  

yrpicnjmon/popnjmon

EQUATION YWWSDNJMON

YWWSDNJMON= <0.0608071> + <0.000917448>*WAGESNJMON + <0.097875>*  

ywwsdnjmon\1

EQUATION EBPRNJMON

EBPRNJMON= <17.6253> + <1151.23>*yrpicnjmon/popnjmon - <0.151406>*  

RMGBS3NS

EQUATION EMFINJMON

EMFINJMON= <-21.483> + <0.777338>*emfinjmon\1 + <21.476>*  

efir/efir\1 + <109.216>*yrpicnjmon/popnjmon

EQUATION YWPPTNJMON

ywpptnjmon= exp( <-2.99273> + <0.617787>* log(ywpptnjmon\1)  

 + <0.234251>* log(yentnfadj) + <0.416424>* log(ebprnjmon))

EQUATION EMCONJMON

EMCONJMON= <0.870031>*emconjmon\1 - <0.224509>*  

(rmmtgens-rmmtgens\1) - <56.1756>*(runjmon-runjmon\1) + <0.286348>*  

EC

EQUATION RUNJMON

RUNJMON= <0.327588> + <0.121211>*runjmon\1 + <0.00774851>*RUC  

 - <0.140521>*emtnnjmon/eea - <0.00250572>*emtnnyman/eea

equation yrpicnjmon

yrpicnjmon=ywwsdnjmon+ywpptnjmon+yothnjmon

equation emtnnjmon

emtnnjmon=emmnnjmon+emconjmon+emtunjmon+emwtnjmon+emrtnjmon+  

 emfinjmon+emsenjmon+emgonjmon

equation wagesnjmon

wagesnjmon=emmnnjmon*rwmnnjmon+emconjmon*rwconjmon+emtunjmon*  

 rwtunjmon+emwtnjmon*rwwtnjmon+emrtnjmon*rwrtnjmon+emfinjmon*  

 rwfinjmon+emsenjmon*rwsenjmon+emgonjmon*rwgonjmon

MORRIS EQUATIONS

EQUATION RWFINJMOR

rwfinjmor=  exp(<-1.24951> + <0.215729>* log(ahefirns) + <0.280442>*  

 log(cpiunynj/cpi) + <0.855126>* log(rwfinjmor\1))

EQUATION YOTHNJMOR

yothnjmor=  exp(<-1.69368> + <0.311087>* log(yoth) + <0.585309>*  

 log(yothnjmor\1))

EQUATION RWMINJMOR

RWMINJMOR= <-50.1826>*DUM91 + <3.53648>*AHEMINS

EQUATION EMMNNJMOR

EMMNNJMOR= <0.696522>*emmnnjmor\1 + <2.08717>*EM - <0.255259>*  

cpiunynj/cpi

EQUATION RUNJMOR

RUNJMOR= <0.0960656> + <0.855946>*runjmor\1 + <0.00830527>*  

(ruc-ruc\1) - <0.0857426>*emtnnjmor\1/emtnnjmor\2

EQUATION EMGONJMOR

EMGONJMOR= <4.31399>*EGSL - <0.329219>*cpiunynj/cpi + <723.889>*  

runjmor/ruc

EQUATION RWRTNJMOR

rwrtnjmor=  exp(<-4.21355> + <0.349196>* log(ahetrns) + <0.880532>*  

 log(cpiunynj/cpi) - <0.0548856>* log(runjmor/ruc) + <0.729112>*  

 log(rwrtnjmor\1))

EQUATION RWMNNJMOR

rwmnnjmor= exp( <0.919023>* log(rwmnnjmor\1) + <0.109653>*  

 log(ahemns) + <0.0255524>* log(cpiunynj/cpi))

EQUATION RWTUNJMOR

rwtunjmor= exp( <-1.68857> + <0.523327>* log(rwtunjmor\1)  

 + <0.63624>* log(aherns) + <0.407887>* log(cpiunynj/cpi))

EQUATION EMTUNJMOR

EMTUNJMOR= <1.13292> + <0.96324>*emtunjmor\1 - <47.9127>*  

(runjmor-runjmor\1)

EQUATION EMRTNJMOR

EMRTNJMOR= <3.93069> + <0.847586>*emrtnjmor\1 + <2.24058>*  

(yrpicnjmor-yrpicnjmor\1) - <0.317139>*(rmgbs3ns-rmgbs3ns\1)  

 - <78.776>*(runjmor-runjmor\1)

EQUATION EMFINJMOR

EMFINJMOR= <1.18274> + <0.883998>*emfinjmor\1 + <2.51347>*  

(yrpicnjmor-yrpicnjmor\1) - <36.9996>*(runjmor-runjmor\1)

EQUATION EMTNNJMOR

EMTNNJMOR= EMMINJMOR + EMMNNJMOR + EMCONJMOR + EMTUNJMOR +  

EMFINJMOR + EMSENJMOR + EMGONJMOR + EMRTNJMOR + EMWTNJMOR

EQUATION WAGESNJMOR

WAGESNJMOR= EMMINJMOR*RWMINJMOR + EMMNNJMOR*RWMNNJMOR + EMCONJMOR* 

RWCONJMOR + EMFINJMOR*RWFINJMOR + EMSENJMOR*RWSENJMOR + EMTUNJMOR* 

RWTUNJMOR + EMRTNJMOR*RWRTNJMOR + EMWTNJMOR*RWWTNJMOR

EQUATION RWCONJMOR

rwconjmor=  exp(<-5.16297> + <0.421553>* log(ahecns) + <1.09071>*  

 log(cpiunynj/cpi) + <0.107743>* log(emconjmor/ec) + <0.720148>*  

 log(rwconjmor\1))

EQUATION RWWTNJMOR

rwwtnjmor=  exp(<-5.11899> + <0.686078>* log(ahetwns) + <1.37235>*  

 log(cpiunynj/cpi) + <0.529745>* log(emwtnjmor/etw) - <0.0620027>*  

 log(runjmor/ruc))

EQUATION RWSENJMOR

rwsenjmor=  exp(<-3.25554> + <0.666523>* log(ahesvns) + <0.797004>*  

 log(cpiunynj/cpi) + <0.1272>* log(emsenjmor/esv) + <0.393509>*  

 log(rwsenjmor\1))

EQUATION YWWSDNJMOR

YWWSDNJMOR= <0.0990248> + <0.000721591>*WAGESNJMOR + <0.244838>*  

ywwsdnjmor\1

EQUATION YRPICNJMOR

YRPICNJMOR= YOTHNJMOR + YWPPTNJMOR + YWWSDNJMOR

EQUATION EMWTNJMOR

EMWTNJMOR= <0.96915>*emwtnjmor\1 + <0.766659>*  

(yrpicnjmor-yrpicnjmor\1) + <0.0150226>*EMRTNJMOR

EQUATION YWPPTNJMOR

ywpptnjmor= exp( <-4.33337> + <0.415172>* log(ywpptnjmor\1)  

 + <0.510426>* log(yentnfadj) + <0.352798>* log(ebprnjmor))

EQUATION EBPRNJMOR

EBPRNJMOR= <0.960925>*ebprnjmor\1 + <0.0112256>*EMTNNJMOR

EQUATION EMCONJMOR

EMCONJMOR= <-15.6362> + <0.216073>*emconjmor\1 - <6.22804>*  

DUMCONJMOR + <4956.44>*yrpicnjmor/yp + <1.99073>*EC

EQUATION EMSENJMOR

EMSENJMOR= <5.27496> + <0.724307>*emsenjmor\1 + <517.176>*  

yrpicnjmor/popnjmor

EQUATION RWGONJMOR

rwgonjmor=  exp(<0.33831> + <0.322083>* log(ahesvns) + <0.699694>*  

 log(rwgonjmor\1))

OCEAN EQUATIONS
EQUATION EMTUNJOCE

EMTUNJOCE= <1.00873>*emtunjoce\1 + <0.00935248>*  

(popnjoce-popnjoce\1)

EQUATION RWMNNJOCE

rwmnnjoce=   exp(<-2.99311> + <0.353581>* log(ahemns) + <0.678928>*  

 log(cpiunynj/cpi) + <0.717616>* log(rwmnnjoce\1))

EQUATION RWFINJOCE

rwfinjoce=   exp(<-14.7942> + <0.427898>* log(ahefirns) + <3.16563>*  

 log(cpiunynj/cpi) + <0.649317>* log(rwfinjoce\1))

EQUATION RWSENJOCE

rwsenjoce=   exp(<-6.60494> + <1.08866>* log(ahesvns) + <1.53704>*  

 log(cpiunynj/cpi))

EQUATION RWGONJOCE

rwgonjoce=   exp(<-5.6902> + <1.2005>* log(ahesvns) + <1.34876>*  

 log(cpiunynj/cpi))

EQUATION YOTHNJOCE

yothnjoce=   exp(<-2.41014> + <0.56738>* log(yothnjoce\1)  

 + <0.402566>* log(yoth) + <0.453105>* log(popnjoce/n))

EQUATION EMFINJOCE

EMFINJOCE= <-8.44985> + <0.0705438>*emtnnjoce\1 + <6.9928>*  

popnjoce/popnjoce\1

EQUATION EMSENJOCE

EMSENJOCE= <1.03766>*emsenjoce\1 + <0.0545344>*  

(popnjoce-popnjoce\1) - <29.9929>*(runjoce-runjoce\1)

EQUATION EMGONJOCE

EMGONJOCE= <2.15887> + <0.856845>*emgonjoce\1 + <2.29312>*  

(yrpicnjoce-yrpicnjoce\1)

EQUATION RWTUNJOCE

rwtunjoce=   exp(<1.02572>* log(aherns) + <0.158447>*  

 log(cpiunynj/cpi) + <0.129109>* log(emtunjoce/er) - <0.0409012>*  

 log(runjoce/ruc))

EQUATION RWCONJOCE

rwconjoce=   exp(<0.420779>* log(ahecns) + <0.2191>* log(emconjoce/ec)  

 + <0.660756>* log(rwconjoce\1))

EQUATION RWRTNJOCE

rwrtnjoce=   exp(<-3.68647> + <0.450029>* log(ahetrns) + <0.788966>*  

 log(cpiunynj/cpi) - <0.0606187>* log(runjoce/ruc) + <0.593338>*  

 log(rwrtnjoce\1))

EQUATION RWWTNJOCE

rwwtnjoce=   exp(<0.22517>* log(ahetwns) - <0.0658127>*  

 log(runjoce/ruc) + <0.0773987>* log(emwtnjoce/etw) + <0.768762>*  

 log(rwwtnjoce\1))

EQUATION RUNJOCE

RUNJOCE= <0.247668> + <0.865044>*runjoce\1 + <0.00391442>*  

(ruc-ruc\1) - <0.239363>*  

((emtnnjoce+emtnnyman)/(emtnnjoce\1+emtnnyman\1))

EQUATION EMTNNJOCE

EMTNNJOCE= EMMINJOCE + EMMNNJOCE + EMCONJOCE + EMTUNJOCE + EMRTNJOCE + 

EMWTNJOCE + EMSENJOCE + EMGONJOCE + EMFINJOCE

EQUATION WAGESNJOCE

WAGESNJOCE= EMMINJOCE*RWMINJOCE + EMMNNJOCE*RWMNNJOCE + EMCONJOCE*  

RWCONJOCE + EMTUNJOCE*RWTUNJOCE + EMFINJOCE*RWFINJOCE + EMRTNJOCE*  

RWRTNJOCE + EMWTNJOCE*RWWTNJOCE + EMSENJOCE*RWSENJOCE + EMGONJOCE*  

RWGONJOCE

EQUATION YWWSDNJOCE

YWWSDNJOCE= <0.0420538> + <0.000636763>*WAGESNJOCE + <0.37448>*  

ywwsdnjoce\1

EQUATION YRPICNJOCE

YRPICNJOCE= YOTHNJOCE + YWPPTNJOCE + YWWSDNJOCE

EQUATION EMMNNJOCE

EMMNNJOCE= <-3.6295> + <0.47566>*EM - <1.28199>*RWMNNJOCE/AHEMNS  

 - <102.27>*RUNJOCE/RUC + <3552.82>*YRPICNJOCE/YP - <0.140148>*  

RMGBS3NS

EQUATION EMRTNJOCE

EMRTNJOCE= <0.667809>*emrtnjoce\1 + <4.98907>*  

(yrpicnjoce-yrpicnjoce\1) + <0.384337>*ETR

EQUATION EMWTNJOCE

EMWTNJOCE= <-0.163069> + <0.913939>*emwtnjoce\1 - <0.0358322>*  

(rmmbcaaans-rmmbcaaans\1) + <0.0198412>*EMRTNJOCE

EQUATION EMCONJOCE

EMCONJOCE= <4.54168> + <0.498942>*emconjoce\1 - <0.12534>*  

(rmmtgens\1-rmmtgens\2) - <27.7672>*RUNJOCE + <1.23513>*(ec-ec\1)

EQUATION YWPPTNJOCE

ywpptnjoce= exp( <-1.23944> + <0.650882>* log(ywpptnjoce\1)  

 + <0.283741>* log(ebprnjoce) + <0.975556>* log(emtnnjoce/eea))

EQUATION EBPRNJOCE

EBPRNJOCE= <0.081813> + <0.794577>*ebprnjoce\1 + <0.0624203>*  

EMTNNJOCE

PASSAIC EQUATIONS
EQUATION RWWTNJPAS

rwwtnjpas=   exp(<-3.98775> + <0.565791>* log(ahetwns) + <0.944593>*  

 log(cpiunynj/cpi) + <0.521427>* log(rwwtnjpas\1))

EQUATION RWSENJPAS

rwsenjpas=   exp(<0.13642>* log(ahesvns) + <0.0344007>*  

 log(cpiunynj/cpi) + <0.868786>* log(rwsenjpas\1))

EQUATION YWPPTNJPAS

YWPPTNJPAS= <0.0282171> + <0.969259>*ywpptnjpas\1

EQUATION YOTHNJPAS

yothnjpas=   exp(<-3.74939> + <0.341252>* log(yothnjpas\1)  

 + <0.618846>* log(yoth))

EQUATION RWMINJPAS

rwminjpas= exp( <1.15283> + <0.595434>* log(rwminjpas\1)  

 + <0.134458>* log(ahemins) - <0.522401>*DUM83)

EQUATION EMRTNJPAS

EMRTNJPAS= <0.91318>*emrtnjpas\1 - <0.0917644>*  

(rmgbs3ns-rmgbs3ns\1) + <821.89>*yrpicnjpas/yp + <2.4679>*  

(etr-etr\1)

EQUATION EMFINJPAS

EMFINJPAS= <0.887391>*emfinjpas\1 + <0.0922865>*(rmmtgens-rmgbs3ns)  

 + <243.965>*yrpicnjpas/yp + <2.79858>*(efir-efir\1)

EQUATION RWRTNJPAS

rwrtnjpas=   exp(<-4.25114> + <1.5852>* log(ahetrns) + <2.96613>*  

 log(cpiunynj/cpi) + <1.56838>* log(yrpicnjpas/yp))

EQUATION EMSENJPAS

EMSENJPAS= <4.73293> + <0.784478>*emsenjpas\1 + <292.636>*  

yrpicnjpas/popnjpas

EQUATION EMMNNJPAS

EMMNNJPAS= <2.50759>*EM - <11.8168>*rwmnnjpas/ahemns - <641.309>*  

runjpas/ruc + <26677.1>*yrpicnjpas/yp

EQUATION EMTUNJPAS

EMTUNJPAS= <0.523326>*ER - <0.0571717>*cpiunynj/cpi - <0.299362>*  

rwtunjpas/aherns + <5082.61>*yrpicnjpas/yp

EQUATION EMWTNJPAS

EMWTNJPAS= <1.55095> + <0.378051>*ETW - <119.113>*runjpas/ruc  

 + <0.187038>*EMRTNJPAS + <0.408228>*emwtnjpas\1

EQUATION RWTUNJPAS

rwtunjpas=   exp(<-9.29983> + <1.08346>* log(aherns) + <1.90468>*  

 log(cpiunynj/cpi) - <0.254786>* log(runjpas/ruc))

EQUATION RWMNNJPAS

rwmnnjpas=   exp(<-11.416> + <1.27395>* log(ahemns) + <2.52178>*  

 log(cpiunynj/cpi) - <0.0524522>* log(runjpas/ruc))

EQUATION EMTNNJPAS

EMTNNJPAS= EMMINJPAS + EMMNNJPAS + EMTUNJPAS + EMFINJPAS + EMRTNJPAS  

+ EMWTNJPAS + EMSENJPAS + EMGONJPAS + EMCONJPAS

EQUATION EMGONJPAS

EMGONJPAS= <3.03585> + <0.81692>*emgonjpas\1 + <2.00724>*  

(egsl-egsl\1) + <14.0593>*RUNJPAS

EQUATION RUNJPAS

RUNJPAS= <0.304185> + <0.422326>*runjpas\1 + <0.0050828>*  

(ruc-ruc\1) - <0.000794791>*EMTNNJPAS - <4.79257e-005>*EMTNNYMAn

EQUATION EMCONJPAS

EMCONJPAS= <-19.5479> + <0.168985>*emconjpas\1 + <2.08007>*EC  

 - <151.497>*runjpas/ruc + <3716.97>*yrpicnjpas/yp - <0.147218>*  

(rmmtgens-rmmtgens\1) + <10.405>*emtnnjpas\1/emtnnjpas\2

EQUATION RWGONJPAS

rwgonjpas=   exp(<-14.352> + <1.24233>* log(ahesvns) + <3.04773>*  

 log(cpiunynj/cpi) - <0.157162>* log(runjpas/ruc))

EQUATION RWFINJPAS

rwfinjpas=   exp(<-0.0476021>* log(runjpas/ruc) + <0.950626>*  

 log(rwfinjpas\1) - <0.207453>*DUMFINJPAS)

EQUATION RWCONJPAS

rwconjpas=   exp(<0.185755>* log(ahecns) + <0.0118238>*  

 log(cpiunynj/cpi) + <0.0664722>* log(emconjpas/ec) + <0.848518>*  

 log(rwconjpas\1))

EQUATION WAGESNJPAS

WAGESNJPAS= EMMINJPAS*RWMINJPAS + EMMNNJPAS*RWMNNJPAS + EMTUNJPAS* 

RWTUNJPAS + EMRTNJPAS*RWRTNJPAS + EMWTNJPAS*RWWTNJPAS + EMFINJPAS* 

RWFINJPAS + EMSENJPAS*RWSENJPAS + EMGONJPAS*RWGONJPAS + EMCONJPAS* 

RWCONJPAS

EQUATION YWWSDNJPAS

YWWSDNJPAS= <-0.0619002> + <0.000643583>*WAGESNJPAS + <0.35011>*  

YWWSDNJPAS\1

EQUATION YRPICNJPAS

YRPicNJPAS= YWWSDNJPAS + YWPPTNJPAS + YOTHNJPAS

EQUATION EBPRNJPAS

EBPRNJPAS= <-6.95203> + <1.03178>*ebprnjpas\1 + <0.0354421>*  

EMTNNJPAS

SOMERSET EQUATIONS
EQUATION EMMNNJSOM

EMMNNJSOM= <1.55242>*EM - <0.176151>*cpiunynj/cpi - <0.305857>*  

RMGBS3NS + <0.624988>*emmnnjsom\1

EQUATION EMTUNJSOM

EMTUNJSOM= <0.968792>*emtunjsom\1 + <0.00470037>*POPNJSOM

EQUATION RWMNNJSOM

rwmnnjsom=   exp(<0.0811514>* log(ahemns) + <0.0270348>*  

 log(cpiunynj/cpi) + <0.933348>* log(rwmnnjsom\1))

EQUATION RWTUNJSOM

rwtunjsom=   exp(<-4.83797> + <1.24521>* log(cpiunynj/cpi)  

 + <0.313611>* log(emtunjsom/er) + <1.0582>* log(aherns))

EQUATION RWWTNJSOM

rwwtnjsom=   exp(<-9.28238> + <0.927078>* log(ahetwns) + <2.04664>*  

 log(cpiunynj/cpi) + <0.340711>* log(rwwtnjsom\1))

EQUATION RWSENJSOM

rwsenjsom=   exp(<-2.42419> + <0.330553>* log(ahesvns) + <0.555826>*  

 log(cpiunynj/cpi) + <0.739144>* log(rwsenjsom\1))

EQUATION RWGONJSOM

rwgonjsom=   exp(<-4.08438> + <0.347722>* log(ahesvns) + <0.923726>*  

 log(cpiunynj/cpi) + <0.719248>* log(rwgonjsom\1))

EQUATION YOTHNJSOM

yothnjsom=   exp(<-2.1861> + <0.609564>* log(yothnjsom\1)  

 + <0.352581>* log(yoth))

EQUATION RUNJSOM

RUNJSOM= <-0.0415962> + <0.844336>*runjsom\1 + <0.0476399>*  

ruc/ruc\1

EQUATION RWMINJSOM

RWMINJSOM= <5.53029> + <0.614747>*rwminjsom\1 + <0.423119>*AHEMINS

EQUATION RWCONJSOM

rwconjsom=   exp(<-6.20394> + <0.661113>* log(ahecns) + <1.23372>*  

 log(cpiunynj/cpi) - <0.107058>* log(runjsom/ruc) + <0.495647>*  

 log(rwconjsom\1))

EQUATION RWFINJSOM

rwfinjsom=   exp(<-14.8485> + <1.09296>* log(ahefirns) + <2.99309>*  

 log(cpiunynj/cpi) - <0.11615>* log(runjsom/ruc) + <0.340664>*  

 log(rwfinjsom\1))

EQUATION EMCONJSOM

EMCONJSOM= <-16.7917> + <0.501877>*emconjsom\1 - <0.169581>*  

(rmmtgens-rmmtgens\1) - <32.0265>*RUNJSOM + <20.1969>*  

popnjsom\1/popnjsom\2

EQUATION EMRTNJSOM

EMRTNJSOM= <1.28794> + <0.898895>*emrtnjsom\1 + <1.99857>*  

(yrpicnjsom-yrpicnjsom\1) - <12.7201>*(runjsom-runjsom\1)

EQUATION EMWTNJSOM

EMWTNJSOM= <-2.34466> + <0.563067>*ETW - <135.665>*runjsom/ruc  

 + <2098.81>*yrpicnjsom/yp + <0.555526>*emwtnjsom\1

EQUATION EMFINJSOM

EMFINJSOM= <0.976539>*emfinjsom\1 + <0.117773>*(rmmtgens-rmgbs3ns)  

 + <1.44562>*(yrpicnjsom-yrpicnjsom\1) - <30.7952>*  

(runjsom-runjsom\1)

EQUATION EMGONJSOM

EMGONJSOM= <1.13523> + <0.916905>*emgonjsom\1 + <39.3144>*  

(runjsom-runjsom\1) + <1.6119>*(yrpicnjsom-yrpicnjsom\1)

EQUATION EMTNNJSOM

EMTNNJSOM= EMMINJSOM + EMMNNJSOM + EMTUNJSOM + EMRTNJSOM +  

EMWTNJSOM + EMSENJSOM + EMGONJSOM + EMCONJSOM + EMFINJSOM

EQUATION WAGESNJSOM

WAGESNJSOM= EMMINJSOM*RWMINJSOM + EMMNNJSOM*RWMNNJSOM + EMRTNJSOM*  

RWRTNJSOM + EMWTNJSOM*RWWTNJSOM + EMGONJSOM*RWGONJSOM + EMFINJSOM*  

RWFINJSOM + EMTUNJSOM*RWTUNJSOM + EMSENJSOM*RWSENJSOM + EMCONJSOM*  

RWCONJSOM

EQUATION RWRTNJSOM

rwrtnjsom=   exp(<-7.61086> + <0.787975>* log(ahetrns) + <1.62909>*  

 log(cpiunynj/cpi) + <0.151374>* log(emrtnjsom/etr) - <0.089095>*  

 log(runjsom/ruc) + <0.324287>* log(rwrtnjsom\1))

EQUATION YWWSDNJSOM

YWWSDNJSOM= <0.000746638>*WAGESNJSOM + <0.225833>*ywwsdnjsom\1

EQUATION YRPICNJSOM

YRPICNJSOM= YOTHNJSOM + YWPPTNJSOM + YWWSDNJSOM

EQUATION YWPPTNJSOM

ywpptnjsom= exp( <-3.75444> + <0.517398>* log(ywpptnjsom\1)  

 + <0.427771>* log(yentnfadj) + <0.292542>* log(ebprnjsom))

EQUATION EBPRNJSOM

EBPRNJSOM= <-0.600384> + <0.94769>*ebprnjsom\1 + <0.0203629>*  

EMTNNJSOM

EQUATION EMSENJSOM

EMSENJSOM= <1.76757> + <0.268557>*emsenjsom\1 + <765.684>*  

yrpicnjsom/popnjsom

SUSSEX EQUATIONS

EQUATION RWMNNJSUS

rwmnnjsus=   exp(<-3.95105> + <0.884336>* log(cpiunynj/cpi)  

 + <0.481389>* log(ahemns) + <0.613439>* log(rwmnnjsus\1))

EQUATION RWTUNJSUS

rwtunjsus=   exp(<0.862083>* log(aherns) + <0.221615>*  

 log(cpiunynj/cpi))

EQUATION RWSENJSUS

rwsenjsus=   exp(<0.296992>* log(ahesvns) + <0.043939>*  

 log(cpiunynj/cpi) + <0.717441>* log(rwsenjsus\1))

EQUATION RWGONJSUS

rwgonjsus=   exp(<-9.80918> + <1.26851>* log(ahesvns) + <2.19389>*  

 log(cpiunynj/cpi))

EQUATION YOTHNJSUS

yothnjsus=   exp(<0.816669>* log(yothnjsus\1) + <0.0815221>* log(yoth)  

 + <0.679391>* log(popnjsus/n))

EQUATION RWMINJSUS

rwminjsus= exp( <0.773068> + <0.254625>* log(rwminjsus\1)  

 + <0.708119>* log(ahemins))

EQUATION RUNJSUS

RUNJSUS= <-0.117532> + <0.796351>*runjsus\1 + <0.00777069>*  

(ruc-ruc\1) - <0.0984883>*emtnnjsus\1/emtnnjsus\2 + <0.226558>*  

popnjsus/popnjsus\1

EQUATION EMMNNJSUS

EMMNNJSUS= <4.59334> + <0.207488>*EM - <0.0409247>*cpiunynj/cpi  

 - <0.188389>*rwmnnjsus/ahemns - <77.3054>*runjsus/ruc

EQUATION RWCONJSUS

rwconjsus=   exp(<-7.26484> + <0.468796>* log(ahecns) + <1.43441>*  

 log(cpiunynj/cpi) - <0.148009>* log(runjsus/ruc) + <0.596772>*  

 log(rwconjsus\1))

EQUATION RWRTNJSUS

rwrtnjsus=   exp(<-7.70905> + <1.10225>* log(ahetrns) + <1.66302>*  

 log(cpiunynj/cpi) - <0.118923>* log(runjsus/ruc))

EQUATION EMTUNJSUS

EMTUNJSUS= <-0.205956> + <0.313136>*emtunjsus\1 + <0.0254991>*  

(popnjsus-popnjsus\1) + <1861.58>*yrpicnjsus/yp

EQUATION EMRTNJSUS

EMRTNJSUS= <0.382069> + <0.9049>*emrtnjsus\1 + <1.73544>*  

(yrpicnjsus-yrpicnjsus\1) - <4.93602>*(runjsus-runjsus\1)

EQUATION EMWTNJSUS

EMWTNJSUS= <0.493473>*emwtnjsus\1 + <0.0278344>*EMRTNJSUS  

 + <0.285504>*(etw-etw\1) + <0.103679>*YRPICNJSUS

EQUATION EMSENJSUS

EMSENJSUS= <0.277818>*ESV + <5089.67>*yrpicnjsus/yp - <0.709349>*  

rwsenjsus/ahesvns - <0.0750529>*RMGBS3NS

EQUATION EMGONJSUS

EMGONJSUS= <2.13966> + <1.36039>*DUMGONJSUS + <0.351554>*  

emgonjsus\1 + <2.45047>*(yrpicnjsus-yrpicnjsus\1)

EQUATION RWWTNJSUS

rwwtnjsus=   exp(<-15.3152> + <0.48669>* log(ahetwns) + <3.2653>*  

 log(cpiunynj/cpi) - <0.23216>* log(runjsus/ruc) + <0.192146>*  

 log(emwtnjsus/etw) + <0.454794>* log(rwwtnjsus\1))

EQUATION RWFINJSUS

rwfinjsus=   exp(<0.253248>* log(ahefirns) + <0.0735709>*  

 log(cpiunynj/cpi) + <0.21633>* log(emfinjsus/efir) + <0.758809>*  

 log(rwfinjsus\1))

EQUATION YWWSDNJSUS

YWWSDNJSUS= <0.000421187>*WAGESNJSUS + <0.645983>*ywwsdnjsus\1

EQUATION YWPPTNJSUS

ywpptnjsus=   exp(<-6.05759> + <0.538075>* log(yentnfadj)  

 + <0.520953>* log(emtnnjsus/eea) + <0.758548>* log(ebprnjsus))

EQUATION YRPICNJSUS

YRPICNJSUS= YOTHNJSUS + YWPPTNJSUS + YWWSDNJSUS

EQUATION EMTNNJSUS

EMTNNJSUS= EMMINJSUS + EMMNNJSUS + EMCONJSUS + EMTUNJSUS +  

EMSENJSUS + EMFINJSUS + EMGONJSUS + EMWTNJSUS + EMRTNJSUS

EQUATION WAGESNJSUS

WAGESNJSUS= EMMINJSUS*RWMINJSUS + EMMNNJSUS*RWMNNJSUS + EMTUNJSUS* 

RWTUNJSUS + EMCONJSUS*RWCONJSUS + EMSENJSUS*RWSENJSUS + EMGONJSUS* 

RWGONJSUS + EMWTNJSUS*RWWTNJSUS + EMRTNJSUS*RWRTNJSUS + EMFINJSUS* 

RWFINJSUS

EQUATION EMCONJSUS

EMCONJSUS= <0.881725>*emconjsus\1 - <0.0638236>*  

(rmmtgens-rmmtgens\1) + <0.487129>*(dumconjsus-dumconjsus\1)  

 + <1.21728>*(yrpicnjsus-yrpicnjsus\1)

EQUATION EBPRNJSUS

EBPRNJSUS= <0.976464>*ebprnjsus\1 + <0.0233962>*EMTNNJSUS

EQUATION EMFINJSUS

EMFINJSUS= <0.0249037> + <0.952818>*emfinjsus\1 + <117.902>*  

((yrpicnjsus/popnjsus)-(yrpicnjsus\1/popnjsus\1))

UNION EQUATIONS
EQUATION RWMNNJUNI

rwmnnjuni=  exp(<-9.56885> + <1.29461>* log(ahemns) + <2.19239>*  

 log(cpiunynj/cpi))

EQUATION RWWTNJUNI

rwwtnjuni=  exp(<0.159397>* log(ahetwns) + <0.0468819>*  

 log(cpiunynj/cpi) + <0.848353>* log(rwwtnjuni\1))

EQUATION RWFINJUNI

rwfinjuni=   exp(<-4.1187> + <0.200335>* log(ahefirns) + <0.933241>*  

 log(cpiunynj/cpi) + <0.784514>* log(rwfinjuni\1))

EQUATION YWPPTNJUNI

ywpptnjuni=   exp(<-2.65778> + <0.422114>* log(yentnfadj)  

 + <0.48648>* log(ywpptnjuni\1))

EQUATION RWTUNJUNI

rwtunjuni=   exp(<1.17464>* log(aherns) + <0.146268>*  

 log(cpiunynj/cpi))

EQUATION EMGONJUNI

EMGONJUNI= <0.223107>*emgonjuni\1 - <11.6928>*DUMGONJUNI  

 + <32.386>*emtnnjuni\1/emtnnjuni\2

EQUATION RUNJUNI

RUNJUNI= <0.108731> + <0.761453>*runjuni\1 + <0.00902903>*  

(ruc-ruc\1) - <0.0924542>*emtnnjuni\1/emtnnjuni\2

EQUATION YOTHNJUNI

yothnjuni= exp( <-2.03423> + <0.343023>* log(yoth) + <0.686175>*  

 log(yothnjuni\1))

EQUATION EMTUNJUNI

EMTUNJUNI= <-113.574> + <0.786123>*emtunjuni\1 + <105.805>*  

popnjuni/popnjuni\1 - <42.6416>*(runjuni-runjuni\1) + <12.6487>*  

emtnnjuni\1/emtnnjuni\2

EQUATION RWCONJUNI

rwconjuni=  exp(<0.118449>* log(ahecns) - <0.0236245>*  

 log(runjuni/ruc) + <0.896969>* log(rwconjuni\1))

EQUATION RWRTNJUNI

rwrtnjuni=  exp(<-2.62532> + <0.31911>* log(ahetrns) + <0.537343>*  

 log(cpiunynj/cpi) - <0.0685248>* log(runjuni/ruc) + <0.734747>*  

 log(rwrtnjuni\1))

EQUATION RWGONJUNI

rwgonjuni=   exp(<-9.50948> + <2.15616>* log(cpiunynj/cpi)  

 + <1.18861>* log(ahesvns) - <0.0283067>* log(runjuni/ruc))

EQUATION EMMNNJUNI

EMMNNJUNI= <4.52801>*EM - <19.1141>*rwmnnjuni/ahemns + <17848.7>*  

yrpicnjuni/yp

EQUATION WAGESNJUNI

WAGESNJUNI = EMMINJUNI*RWMINJUNI + EMMNNJUNI*RWMNNJUNI + EMCONJUNI*  

RWCONJUNI + EMFINJUNI*RWFINJUNI + EMTUNJUNI*RWTUNJUNI + EMWTNJUNI*  

RWWTNJUNI + EMRTNJUNI*RWRTNJUNI + EMGONJUNI*RWGONJUNI + EMSENJUNI*  

RWSENJUNI

EQUATION RWSENJUNI

rwsenjuni=   exp(<1.10837>* log(ahesvns) + <0.532869>*  

 log(cpiunynj/cpi) + <0.285025>* log(yrpicnjuni/yp))

EQUATION YWWSDNJUNI

YWWSDNJUNI= <0.00059429>*WAGESNJUNI + <0.387398>*ywwsdnjuni\1

EQUATION YRPICNJUNI

YRPICNJUNI= YWWSDNJUNI + YWPPTNJUNI + YOTHNJUNI

EQUATION EMCONJUNI

EMCONJUNI= <4.1201> + <3.31284>*DUMCONJUNI + <0.471384>*EC  

 + <759.606>*yrpicnjuni/yp

EQUATION EMRTNJUNI

EMRTNJUNI= <0.971427>*emrtnjuni\1 - <58.7924>*(runjuni-runjuni\1)  

 - <2.34379>*DUM90 + <356.67>*yrpicnjuni/yp

EQUATION EMWTNJUNI

EMWTNJUNI= <15.8622> + <0.481035>*emwtnjuni\1 - <2.91612>*  

rwwtnjuni/ahetwns - <36.16>*(runjuni-runjuni\1) + <0.187776>*  

EMRTNJUNI

EQUATION EMFINJUNI

EMFINJUNI= <-8.88641> + <0.863457>*emfinjuni\1 + <0.108168>*  

(rmmtgens-rmgbs3ns) + <9.80379>*  

(yrpicnjuni/popnjuni)/(yrpicnjuni\1/popnjuni\1) - <20.4573>*  

(runjuni-runjuni\1)

EQUATION EMSENJUNI

EMSENJUNI= <-24.3777> + <1.00091>*emsenjuni\1 - <54.5608>*  

(runjuni-runjuni\1) + <23.7608>*  

(yrpicnjuni/popnjuni)/(yrpicnjuni\1/popnjuni\1)

EQUATION EBPRNJUNI

EBPRNJUNI= <0.978849>*ebprnjuni\1 + <1185.46>*  

((yrpicnjuni/popnjuni)-(yrpicnjuni\1/popnjuni\1)) - <0.205774>*  

(rmgbs3ns-rmgbs3ns\1) - <17.2528>*(runjuni-runjuni\1)

EQUATION EMTNNJUNI

EMTNNJUNI= EMMINJUNI + EMMNNJUNI + EMCONJUNI + EMFINJUNI + EMTUNJUNI  

+ EMWTNJUNI + EMRTNJUNI + EMGONJUNI + EMSENJUNI

WARREN EQUATIONS
EQUATION RWWTNJWAR

rwwtnjwar=   exp(<-5.79346> + <0.604109>* log(ahetwns) + <1.27408>*  

 log(cpiunynj/cpi) + <0.535084>* log(rwwtnjwar\1))

EQUATION YOTHNJWAR

yothnjwar=   exp(<-2.06613> + <0.475304>* log(yothnjwar\1)  

 + <0.507773>* log(yoth) + <1.91364>* log(popnjwar/n))

EQUATION EMTUNJWAR

EMTUNJWAR= <0.240493>*ER + <0.217028>*emtunjwar\1 - <0.00290923>*  

cpiunynj/cpi

EQUATION RWMINJWAR

rwminjwar= exp( <0.458636> + <0.595464>* log(rwminjwar\1)  

 + <0.37821>* log(ahemins) - <0.676891>*(dum82+dum83) - <0.53283>*  

DUM78 + <0.454711>*DUM80)

EQUATION RUNJWAR

RUNJWAR= <0.0100759> + <0.858324>*runjwar\1 + <0.0146332>*  

(ruc-ruc\1) - <0.0246051>*DUM80

EQUATION RWMNNJWAR

rwmnnjwar=   exp(<-8.04671> + <1.30555>* log(ahemns) + <1.77446>*  

 log(cpiunynj/cpi) - <0.0714265>* log(runjwar/ruc))

EQUATION RWTUNJWAR

rwtunjwar=   exp(<-7.45839> + <0.641393>* log(aherns) + <1.59986>*  

 log(cpiunynj/cpi) - <0.0971816>* log(runjwar/ruc) + <0.39059>*  

 log(rwtunjwar\1))

EQUATION EMMNNJWAR

EMMNNJWAR= <0.464694>*EM - <1.39503>*rwmnnjwar/ahemns + <0.59305>*  

emmnnjwar\1

EQUATION EMGONJWAR

EMGONJWAR= <-2.72757> + <0.509207>*EGSL + <41.5215>*RUNJWAR/RUC

EQUATION RWGONJWAR

rwgonjwar=   exp(<-5.71034> + <0.561266>* log(ahesvns) + <1.25637>*  

 log(cpiunynj/cpi) + <0.0829614>* log(emgonjwar/egsl) - <0.0459883>*  

 log(runjwar/ruc) + <0.533317>* log(rwgonjwar\1))

EQUATION RWSENJWAR

rwsenjwar=   exp(<-5.91209> + <1.09381>* log(ahesvns) + <1.3683>*  

 log(cpiunynj/cpi) + <0.158999>* log(emsenjwar/esv) - <0.0517243>*  

 log(runjwar/ruc))

EQUATION RWCONJWAR

rwconjwar=   exp(<-8.72668> + <0.683889>* log(ahecns) + <1.79396>*  

 log(cpiunynj/cpi) + <0.0817483>* log(emconjwar/ec) - <0.111588>*  

 log(runjwar/ruc) + <0.471375>* log(rwconjwar\1))

EQUATION RWFINJWAR

rwfinjwar=   exp(<-12.1591> + <0.483246>* log(ahefirns) + <2.73256>*  

 log(cpiunynj/cpi) + <0.246593>* log(emfinjwar/efir) + <0.519387>*  

 log(rwfinjwar\1))

EQUATION RWRTNJWAR

rwrtnjwar=   exp(<-5.95603> + <1.09187>* log(ahetrns) + <1.38762>*  

 log(cpiunynj/cpi) - <0.0697708>* log(runjwar/ruc) + <0.222076>*  

 log(emrtnjwar/etr))

EQUATION EMTNNJWAR

EMTNNJWAR= EMMINJWAR + EMMNNJWAR + EMTUNJWAR + EMRTNJWAR +  

EMWTNJWAR + EMSENJWAR + EMGONJWAR + EMFINJWAR + EMCONJWAR

EQUATION WAGESNJWAR

WAGESNJWAR= EMMINJWAR*RWMINJWAR + EMMNNJWAR*RWMNNJWAR +  

EMTUNJWAR*RWTUNJWAR + EMRTNJWAR*RWRTNJWAR + EMWTNJWAR*RWWTNJWAR  

+ EMSENJWAR*RWSENJWAR + EMGONJWAR*RWGONJWAR + EMFINJWAR*RWFINJWAR  

+ EMCONJWAR*RWCONJWAR

EQUATION EMFINJWAR

EMFINJWAR= <0.297105> + <0.508153>*DUMFINJWAR + <0.0223508>*  

(rmmtgens-rmgbs3ns) + <0.342703>*YRPICNJWAR + <0.072521>*EMCONJWAR

EQUATION YWWSDNJWAR

YWWSDNJWAR= <-3.92395e-005> + <0.00063414>*WAGESNJWAR + <0.356381>*  

ywwsdnjwar\1

EQUATION YRPICNJWAR

YRPICNJWAR= YOTHNJWAR + YWWSDNJWAR + YWPPTNJWAR

EQUATION EMWTNJWAR

EMWTNJWAR= <-0.377616>*DUMWTNJWAR + <0.918954>*  

yrpicnjwar/yrpicnjwar\1 + <0.0325796>*EMRTNJWAR - <0.0196678>*  

RMMBCAAANS

EQUATION EMSENJWAR

EMSENJWAR= <0.295702>*ESV - <0.0509889>*CPIUNYNJ/CPI + <12781>*  

YRPICNJWAR/YP

EQUATION EMCONJWAR

EMCONJWAR= <0.177899>*emconjwar\1 - <0.100768>*  

(rmmtgens-rmmtgens\1) - <48.3862>*runjwar/ruc + <0.880035>*  

DUMCONJWAR + <3833.01>*yrpicnjwar/yp - <0.335264>*DUM83  

 + <0.230792>*DUM91

EQUATION EMRTNJWAR

EMRTNJWAR= <2.12648> + <0.316558>*emrtnjwar\1 + <156.636>*  

yrpicnjwar/popnjwar - <3.19832>*RUNJWAR

EQUATION YWPPTNJWAR

ywpptnjwar= exp( <-5.35227> + <0.150598>* log(ywpptnjwar\1)  

 + <0.777184>* log(yentnfadj) + <0.882863>* log(emtnnjwar/eea))

EQUATION EBPRNJWAR

EBPRNJWAR= <1.03032>*ebprnjwar\1 - <2.26943>*(runjwar-runjwar\1)  

 - <0.023863>*(rmgbs3ns-rmgbs3ns\1)

FAIRFIELD EQUATIONS

EQUATION EMFICTFAI

EMFICTFAI= <-7.43756> + <0.49224>*emfictfai\1 + <3.74019>*EFIR  

 - <0.118459>*RMGBS3NS

EQUATION RWFICTFAI

rwfictfai= exp( <-10.4572> + <0.639677>* log(rwfictfai\1)  

 + <0.682802>* log(ahefirns) + <2.19913>* log(cpiunynj/cpi)  

 - <0.228485>*DUM85)

EQUATION RWMNCTFAI

RWMNCTFAI= <0.0190248> + <1.02591>*rwmnctfai\1 + <0.178341>*AHEMNS

EQUATION RWTUCTFAI

rwtuctfai= exp( <-5.504> + <0.571934>* log(rwtuctfai\1)  

 + <0.523751>* log(aherns) + <1.23661>* log(cpiunynj/cpi))

EQUATION RWWTCTFAI

rwwtctfai= exp( <-2.93428> + <0.706896>* log(rwwtctfai\1)  

 + <0.487543>* log(ahetwns) + <0.645814>* log(cpiunynj/cpi))

EQUATION YOTHCTFAI

YOTHCTFAI= <-1.65636> + <0.215839>*yothctfai\1 + <0.00489974>*YOTH  

 + <0.000875759>*EMTNNYMA

EQUATION YWPPTCTFAI

YWPPTCTFAI= <-5.23984> + <0.64547>*ywpptctfai\1 + <0.00483988>*  

YENTNFADJ + <1.34423>*popctfai/n + <0.271972>*DUM88

EQUATION EMMNCTFAI

EMMNCTFAI= <177.572> + <0.450822>*emmnctfai\1 - <7.6455>*  

rwmnctfai/ahemns - <1.41333>*cpiunynj/cpi + <3.10622>*EM

EQUATION EMTNCTFAI

EMTNCTFAI=EMMICTFAI+EMMNCTFAI+EMCOCTFAI+EMTUCTFAI+EMWTCTFAI+  

 EMRTCTFAI+EMFICTFAI+EMSECTFAI+EMGOCTFAI

EQUATION YRPICCTFAI

YRPICCTFAI=YWWSDCTFAI+YWPPTCTFAI+YOTHCTFAI

EQUATION WAGESCTFAI

WAGESCTFAI=EMMNCTFAI*RWMNCTFAI+EMCOCTFAI*RWCOCTFAI+  

 EMTUCTFAI*RWTUCTFAI+EMWTCTFAI*RWWTCTFAI+EMRTCTFAI*RWRTCTFAI+  

 EMFICTFAI*RWFICTFAI+EMSECTFAI*RWSECTFAI+EMGOCTFAI*RWGOCTFAI

EQUATION EMCOCTFAI

EMCOCTFAI= <0.981195>*emcoctfai\1 - <0.135001>*cpiunynj/cpi  

 + <20.3075>*popctfai\1/popctfai\2 - <6.09593>*ructfai/ructfai\1

EQUATION RWCOCTFAI

RWCOCTFAI= <-3.22179> + <0.855976>*rwcoctfai\1 + <0.486464>*AHECNS  

 + <0.879577>*emcoctfai/ec

EQUATION EMGOCTFAI

EMGOCTFAI= <-13.7896> + <0.467243>*emgoctfai\1 + <9.85718>*EGF  

 + <6.33345>*yrpicctfai/yrpicctfai\1

EQUATION RWGOCTFAI

rwgoctfai= exp( <0.0919796> + <0.513877>* log(rwgoctfai\1)  

 + <0.46462>* log(rwsectfai) + <0.143229>*DUM85)

EQUATION EMRTCTFAI

EMRTCTFAI= <49.0299> + <0.599081>*emrtctfai\1 - <0.228294>*  

cpiunynj/cpi + <0.483711>*ETR - <131.742>*RUCTFAI

EQUATION RWRTCTFAI

rwrtctfai= exp( <-3.93753> + <0.838224>* log(rwrtctfai\1)  

 + <0.26419>* log(ahetrns) + <0.336421>* log(emrtctfai/etr)  

 + <0.755288>* log(cpiunynj/cpi))

EQUATION EMTUCTFAI

EMTUCTFAI= <5.42964> + <1.53814>*ER - <0.542699>*rwtuctfai/aherns  

 + <165.084>*yrpicctfai/popctfai - <2.76129>*DUM92

EQUATION RWSECTFAI

rwsectfai= exp( <-3.29754> + <0.702108>* log(rwsectfai\1)  

 + <0.385516>* log(ahesvns) + <0.649944>* log(cpiunynj/cpi)  

 + <0.321203>* log(emsectfai/esv))

EQUATION EMWTCTFAI

EMWTCTFAI= <17.9639> + <0.342105>*emwtctfai\1 + <1.32223>*ETW  

 - <0.191532>*cpiunynj/cpi + <0.125719>*EMRTCTFAI

EQUATION RUCTFAI

RUCTFAI= <0.314294> + <0.911285>*ructfai\1 - <0.30603>*  

emtnctfai/emtnctfai\1

EQUATION YWWSDCTFAI

YWWSDCTFAI= <-0.0173707> + <0.000779242>*WAGESCTFAI + <0.215819>*  

ywwsdctfai\1

EQUATION EMSECTFAI

EMSECTFAI= <52.5888> + <0.540788>*emsectfai\1 + <919.697>*  

yrpicctfai/popctfai - <147.104>*RUCTFAI - <0.2043>*cpiunynj/cpi

EQUATION EBPRCTFAI

EBPRCTFAI= <-4.19602> + <0.00447272>*GDP87 + <0.828393>*ebprctfai\1  

 - <5.53136>*DUM89

LITCHFIELD EQUATIONS

EQUATION EMCOCTLIT

EMCOCTLIT= <22.438> + <0.858726>*emcoctlit\1 - <0.188612>*  

cpiunynj/cpi - <0.217146>*RMMTGENS - <0.692251>*DUM80 - <0.656606>*  

DUM92

EQUATION RWCOCTLIT

rwcoctlit= exp( <0.717855>* log(rwcoctlit\1) + <0.256574>*  

 log(ahecns) + <0.321171>* log(emcoctlit/ec) + <0.0861254>*  

 log(cpiunynj/cpi))

EQUATION EMMNCTLIT

EMMNCTLIT= <10.5376> + <1.57508>*EM - <0.208719>*cpiunynj/cpi

EQUATION RWMNCTLIT

rwmnctlit= exp( <-3.219> + <0.720262>* log(rwmnctlit\1)  

 + <0.352391>* log(ahemns) + <0.728514>* log(cpiunynj/cpi))

EQUATION RWTUCTLIT

rwtuctlit= exp( <-18.7966> + <1.42109>* log(aherns) + <4.01348>*  

 log(cpiunynj/cpi) + <0.236255>*DUM90)

EQUATION EMWTCTLIT

EMWTCTLIT= <2.17628> + <0.481424>*emwtctlit\1 + <0.178974>*ETW  

 - <0.0221128>*cpiunynj/cpi

EQUATION RWWTCTLIT

rwwtctlit= exp( <-10.3073> + <0.347114>* log(rwwtctlit\1)  

 + <0.80841>* log(ahetwns) + <2.29083>* log(cpiunynj/cpi))

EQUATION RWFICTLIT

RWFICTLIT= <-18.2823> + <0.59823>*rwfictlit\1 + <0.565288>*AHEFIRNS  

 + <0.170446>*cpiunynj/cpi - <2.36977>*DUM85 - <2.74034>*DUM82

EQUATION RWSECTLIT

rwsectlit= exp( <0.147123> + <0.843094>* log(rwsectlit\1)  

 + <0.162894>* log(ahesvns))

EQUATION EMGOCTLIT

EMGOCTLIT= <-8.35224> + <0.314064>*emgoctlit\1 + <3.24613>*EGF  

 + <0.0233607>*POPCTLIT

EQUATION RWGOCTLIT

rwgoctlit= exp( <0.806125>* log(rwgoctlit\1) + <0.226995>*  

 log(rwsectlit))

EQUATION YWPPTCTLIT

ywpptctlit= exp( <-2.76824> + <0.613732>* log(ywpptctlit\1)  

 + <0.410817>* log(yentnfadj))

EQUATION YOTHCTLIT

yothctlit= exp( <-6.17946> + <0.289087>* log(yothctlit\1)  

 + <0.606405>* log(yoth) + <0.700543>* log(popctlit/n) + <0.421478>*  

 log(emtnctfai))

EQUATION YRPICCTLIT

YRPICCTLIT=YWWSDCTLIT+YWPPTCTLIT+YOTHCTLIT

EQUATION WAGESCTLIT

WAGESCTLIT=RWMNCTLIT*EMMNCTLIT+RWCOCTLIT*EMCOCTLIT+RWTUCTLIT*  

 EMTUCTLIT+RWWTCTLIT*EMWTCTLIT+RWRTCTLIT*EMRTCTLIT+RWFICTLIT*  

 EMFICTLIT+RWSECTLIT*EMSECTLIT+RWGOCTLIT*EMGOCTLIT

EQUATION EMTNCTLIT

EMTNCTLIT=EMMNCTLIT+EMCOCTLIT+EMTUCTLIT+EMWTCTLIT+EMRTCTLIT+  

 EMFICTLIT+EMSECTLIT+EMGOCTLIT

EQUATION EMTUCTLIT

EMTUCTLIT= <0.661676>*emtuctlit\1 + <0.0620914>*ER + <15.8151>*  

yrpicctlit/popctlit

EQUATION EMRTCTLIT

EMRTCTLIT= <5.18299> + <122.225>*yrpicctlit/popctlit - <12.3753>*  

RUCTLIT + <0.340196>*emrtctlit\1

EQUATION RWRTCTLIT

rwrtctlit= exp( <0.305997> + <0.806597>* log(rwrtctlit\1)  

 + <0.236388>* log(ahetrns) + <0.340218>* log(emrtctlit/etr))

EQUATION EMFICTLIT

EMFICTLIT= <0.61266> + <0.370343>*emfictlit\1 + <27.7496>*  

yrpicctlit/popctlit

EQUATION EMSECTLIT

EMSECTLIT= <-2.38703> + <0.547211>*ESV + <2.78507>*  

(yrpicctlit/popctlit)/(yrpicctlit\1/popctlit\1)

EQUATION RUCTLIT

RUCTLIT= <0.944934>*ructlit\1 - <0.416056>*emtnctlit/emtnctlit\1  

 + <0.423125>*popctlit/popctlit\1 - <0.0210326>*(dum93+dum94)

EQUATION YWWSDCTLIT

YWWSDCTLIT= <0.00750249> + <0.250318>*ywwsdctlit\1 + <0.000717106>*  

WAGESCTLIT

EQUATION EBPRCTLIT

EBPRCTLIT= <-0.895505> + <0.932162>*ebprctlit\1 + <0.0425063>*  

EMTNCTLIT

NEW HAVEN EQUATIONS
EQUATION RWFICTNEW

rwfictnew= exp( <-6.1537> + <0.505991>* log(rwfictnew\1)  

 + <0.50778>* log(ahefirns) + <1.38545>* log(cpiunynj/cpi))

EQUATION EMGOCTNEW

EMGOCTNEW= <-13.8594> + <0.40758>*emgoctnew\1 + <13.9132>*EGF

EQUATION EMTUCTNEW

EMTUCTNEW= <17.3217> + <0.263544>*emtuctnew\1 - <0.134897>*  

cpiunynj/cpi + <0.0155122>*POPCTNEW

EQUATION RWTUCTNEW

rwtuctnew= exp( <0.343273> + <0.662791>* log(rwtuctnew\1)  

 + <0.353925>* log(aherns))

EQUATION RWWTCTNEW

rwwtctnew= exp( <-4.07021> + <0.663527>* log(rwwtctnew\1)  

 + <0.407147>* log(ahetwns) + <0.935473>* log(cpiunynj/cpi))

EQUATION RWSECTNEW

rwsectnew= exp( <0.938492>* log(rwsectnew\1) + <0.0857028>*  

 log(ahesvns) + <0.0143835>* log(cpiunynj/cpi))

EQUATION RWMNCTNEW

RWMNCTNEW= <-66.5836> + <3.79305>*AHEMNS + <0.573934>*cpiunynj/cpi

EQUATION EMMNCTNEW

EMMNCTNEW= <0.531096>*emmnctnew\1 + <4.36349>*EM - <13.6345>*  

rwmnctnew/ahemns - <1.02648>*RMGBS3NS

EQUATION RWGOCTNEW

rwgoctnew=  exp(<0.0431036> + <0.988116>* log(rwgoctnew\1)  

 + <0.880882>* log(rwsectnew/rwsectnew\1))

EQUATION YRPICCTNEW

YRPICCTNEW=YWWSDCTNEW+YWPPTCTNEW+YOTHCTNEW

EQUATION EMTNCTNEW

EMTNCTNEW=EMMNCTNEW+EMCOCTNEW+EMTUCTNEW+EMWTCTNEW+EMRTCTNEW+  

EMFICTNEW+EMSECTNEW+EMGOCTNEW

EQUATION WAGESCTNEW

WAGESCTNEW=RWMNCTNEW*EMMNCTNEW+RWCOCTNEW*EMCOCTNEW+RWTUCTNEW*  

 EMTUCTNEW+RWWTCTNEW*EMWTCTNEW+RWRTCTNEW*EMRTCTNEW+RWFICTNEW*  

 EMFICTNEW+RWSECTNEW*EMSECTNEW+RWGOCTNEW*EMGOCTNEW

EQUATION RWCOCTNEW

rwcoctnew= exp( <0.830426>* log(rwcoctnew\1) + <0.207662>*  

 log(ahecns) + <0.0721651>* log(emcoctnew/ec))

EQUATION EMFICTNEW

EMFICTNEW= <9.68516> + <583.936>*yrpicctnew/popctnew - <1.36005>*  

DUM72 - <2.66216>*DUM92

EQUATION EMRTCTNEW

EMRTCTNEW= <-208.703> + <0.967221>*emrtctnew\1 + <37.3161>*  

yrpicctnew/yrpicctnew\1 + <170.318>*popctnew/popctnew\1

EQUATION RWRTCTNEW

rwrtctnew= exp( <-0.687314> + <0.920477>* log(rwrtctnew\1)  

 + <0.171099>* log(ahetrns) + <0.517891>* log(emrtctnew/etr))

EQUATION EMSECTNEW

EMSECTNEW= <31.5471> + <0.501627>*emsectnew\1 - <4.01739>*  

rwsectnew/ahesvns + <1478.97>*yrpicctnew/popctnew

EQUATION EMWTCTNEW

EMWTCTNEW= <0.235738>*emwtctnew\1 + <0.79281>*ETW - <0.0834268>*  

cpiunynj/cpi + <0.0541507>*EMMNCTNEW + <0.227156>*EMRTCTNEW

EQUATION YWWSDCTNEW

YWWSDCTNEW= <-0.0813656> + <0.125404>*ywwsdctnew\1 + <0.000867402>*  

WAGESCTNEW

EQUATION YWPPTCTNEW

ywpptctnew= exp( <-5.16973> + <0.393567>* log(ywpptctnew\1)  

 + <0.692911>* log(yentnfadj) + <0.953353>* log(emtnctnew/eea))

EQUATION YOTHCTNEW

yothctnew= exp( <-4.79386> + <0.193979>* log(yothctnew\1)  

 + <0.823367>* log(yoth) + <0.253916>* log(emtnctnew/eea))

EQUATION EMCOCTNEW

EMCOCTNEW= <-158.26> + <0.866123>*emcoctnew\1 + <119.307>*  

popctnew/popctnew\1 + <8.75264>*ec/ec\1 + <29.2202>*  

yrpicctnew/yrpicctnew\1 - <2.92642>*DUM80

EQUATION EBPRCTNEW

EBPRCTNEW= <-320.364> + <0.536764>*POPCTNEW - <0.474388>*  

cpiunynj/cpi

EQUATION RUCTNEW

RUCTNEW= <0.497641> + <0.829252>*ructnew\1 - <0.483394>*  

emtnctnew/emtnctnew\1 + <0.0231891>*DUM84 - <0.0150273>*DUM93  

 - <0.0152567>*DUM94

